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1 Introduction

This study is a continuation of paraboctys part 2 and continues in paraboctys part 4.

Please, as reference consult the Conventions, notations, and abbreviations study [2]. The latest
version at https://1drv.ms/b/s! Arslv070x3WjjY UpsGLsNeWwfH60OdA?e=K 1C4q5

As we saw before, all the vertical and diagonal sequence lines in the specific paraboctys
represent quadratic sequences. This is because the specific paraboctys is a parabolic lattice-grid.

Now we will see what the parabolic curves (parabolas) represent when drawn in a specific
paraboctys lattice-grid.

We will start with the specific paraboctys PS[x + 2, x, x] that was the first paraboctys that we
arrived because of our reasoning. Next, we will analyze the specific paraboctys PS[x + 1,x,x +
1]. With this, we study all the possibilities of specific paraboctys with coefficient a = 1.

For your reference, see the main topics that we will cover here:

2.1 The D-Destroyer parabolas with offset Zero in PS[x + 2, x, x|

2.2 The D-Destroyer parabolas with variable offset on a vertical of PS[x + 2, x, x|

2.3 The D-Submarine parabolas with variable offset on a vertical of PS[x + 2, x, x]

2.4 The D-Destroyer and D-Submarine interleaving parabolas with a varying offset in PS[x +
2,x,x]

2.5 Dividing the specific trianz TZ[x + 2, x, x] according to the value of [\/ﬁj

3.1 The C-Destroyer parabolas with offset Zero in PS[x + 2, x, x]

3.2 The C-Destroyer parabolas with variable offset on a vertical of PS[x + 2, x, x]

3.3 The C-Submarine parabolas with variable offset on a vertical of PS[x + 2, x, x]

3.4 The C-Destroyer and C-Submarine interleaving parabolas with a varying offset in PS[x +
2,x,x]

4.1 The D-Submarine parabolas with offset Zero in PS[x + 1,x,x + 1]

4.2 The D-Destroyer parabolas with variable offset on a vertical of PS[x + 1,x,x + 1]
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4.3 The D-Submarine parabolas with a varying offset in PS[x + 1,x,x + 1]

4.4 The D-Destroyer and D-Submarine interleaving parabolas with a varying offset in PS[x +
1,x,x + 1]

5.1 The C-Submarine parabolas with offset Zero in PS[x + 1, x,x + 1]

5.2 The C-Destroyer parabolas with variable offset on a vertical of PS[x + 1,x,x + 1]

5.3 The C-Submarine parabolas with variable offset on a vertical of PS[x + 1,x,x + 1]

5.4 The C-Destroyer and C-Submarine interleaving parabolas with a varying offset in PS[x +
1,x,x + 1]

6 Conclusions



2 Study of the sequences produced by the elements in D
parabolic formation in the PS[x + 2, x, x]

2.1 The D-Destroyer parabolas with offset Zero in PS[x + 2, x, x]

See th¢ picture:

Figure 1. The D-Destroyer parabolas of the form x = —y? + y + ¢ for —10 < ¢ < 10 with
offset f = 0 in lattice-grid PS[x + 2, x, x]. They produce the paraboctys PS|x, x, x].

Thus, the D-Destroyer parabolas of the form x = —y? + y + ¢ for —10 < ¢ < 10 with offset
f = 0 in lattice-grid PS[x + 2, x, x] produce paraboctys with coefficient a = 0. The coefficient
b will depend on the offset and vice-versa. Each D-Destroyer parabola with offset f = 0 has

sequence Y[y] only the constant value of its coefficient c.
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Figure 1. Paraboctys PS|[x, x, x]. Initial vertical lines to form any specific paraboctys.



Thus, we can imagine the construction of the PS[x + 2, x, x| starting from infinite vertical
lines, each vertical with a constant value according to the table above.

Then, we mold these vertical lines according to the D-Destroyer parabolas of the form x =
—y2 + vy + ¢, where Y[y]| = ¢ with offset Zero.

This procedure produces the specific paraboctys PS[x + 2, x, x]:
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Figure 1. The specific paraboctys PS[x + 2, x, x] in table format. The central column is the
Oblong numbers sequence A002378 = [2,0,0] = Y[y] = y? — y. Only lines Y[0] and Y[1]
remain unshifted from PS[x, x, x] to PS[x + 2, x, x].



2.2 The D-Destroyer parabolas with variable offset on a vertical of PS[x +
2,x,x]

See the picture:
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Figure 1. The D-Destroyer parabolas in column x = 0 of the lattice-grid PS[x + 2, x, x]. They
have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = —y? + 0dd * y — Oblong. In terms of the offset

value: x = —y2 + 2f + Dy — (f2 + /).

Each parabola x = —y? + (2f + 1)y — (f? + f) in lattice-grid PS[x + 2, x, x] will produce
a quadratic sequence of the form Y[y] = ay? + by + ¢. Now, to determine the coefficients
a, b, c, for each sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y[1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the D-Destroyer parabolas with a variable offset in a vertical
of lattice-grid PS[x + 2, x, x].

As we have D-Destroyer parabolas, we can understand each sequence as being made of one
element of the vertical column x = —2 to assume the @Y[—1] elements position and two
elements of the vertical column x = 0 to assume the @Y [0] and @Y[1] elements positions.



Consequently,
1. The elements on the vertical column x = —2 with offset f = —1 of the current paraboctys
PS[x + 2,x,x] is:
A028552 = [-2,-2,0] = @Y[-1] =x?+x—2
2. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys
PS[x + 2,x,x] is:
A002378 = [2,0,0] = @Y[0] = x? — x
3. The elements on the vertical column x = 0 with offset f = 1 of the current paraboctys
PS[x + 2,x,x] is:
A002378 = [6,2,0] = @Y[1] = x? — 3x + 2
Finally, we create the new paraboctys PS[@Y[—l], @Y|[0], @Y[l]] = PS[x?>+x—2,x% —
x? - 3x + 2]
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Figure 1. Paraboctys PS[x? + x — 2,x? — x,x? — 3x + 2]. The verticals represent the
sequences produced by D-Destroyer parabolas with variable offset on the vertical x = 0 of the
PS[x + 2,x,x].

The coefficients a, b, ¢ of the vertical quadratic equations of the PS[x? + x — 2,x% — x,x? —
3x + 2] are calculated using our general equation:
PS[x?+x —2,x% — x,x% — 3x + 2]
_ @Y[-1]-2@Y[0] + @Y[1] . @Y[1] - @Y[-1] J + @¥[0]
2 2
PS[x?+x —2,x% — x,x% — 3x + 2]
X2 +x—2)-2(x?—x)+ (x?2 —-3x+2)
2
x2=3x+2)— (x> +x—2)
2
PS[x?+x—2,x>—x,x> —3x+ 2] =(0)y?+ (—2x+2)y + (x? — x)

y+ (x* —x)



Due to the equations of the formation sequences of this paraboctys, the vertical of the zeros is

produced in column 1 and not in column 0.

The D-Destroyer parabolas with positive offset produce the vertical sequences on the left side
of this table. The D-Destroyer parabolas with negative offset produce the vertical sequences on

the right side of this table.

If we turn the paraboctys PS[x? + x — 2, x?

central point (0,0), we get:

—x,x% — 3x + 2] clockwise 90° around the
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Figure 1. Paraboctys PS[4x + 2,2x, 0]. The vertical ones here are the horizontal ones of

PS[x? + x — 2,x? — x,x? — 3x + 2]. Because of the clockwise 90° rotation the indexes y
increase from top to bottom (opposite direction of the Y-axis).

Simplifying all verticals for offset f = 0:
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Figure 1. Paraboctys PS[—x? + x + 2, —x? + x, —x? + x]. All verticals of Paraboctys PS[4x +
2,2x,0] in offset f = 0.

Where are the sequences of prime numbers? They appear when we eliminate composite
generators by adding Odd numbers.
For example: when we move all D-Destroyer parabolas from vertical column x = 0 to vertical

column x = 17 it is equivalent to do:
PS[x? +x—2,x> —x,x>—3x+2]+17 = PS[x> + x + 15, x> —x + 17,x? — 3x + 19]

See the picture:
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Figure 1. Paraboctys PS[ x? + x + 15,x%2 — x + 17,x? — 3x + 19]. The verticals represent the
sequences produced by D-Destroyer parabolas with variable offset on the vertical x = 17 of the
PS[x + 2,x,x].



If we turn the paraboctys clockwise 90° around the central point (0,0), we get:
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[ 101 MR 89 | 83 |

133 125

197 [REZAMEZA 167
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213 BEEN 185 171 143 RFY)
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323 [EIEPEA 269 | | 233 JRAEN 197
267 247

NN
JE
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<

95

o 5l v
i — N}

303 [EEIN 259 237 215 105 IEERIGN 39
485 [N 437 413 BB 365 34  EEAEHIER 245 125 W 77
589 BEEN 537 511 485 459 EEEN 407 381 355 329 303 [EX&d | 225 | 147 121 95
R 5o [HEN 535 507 RN 451 423 395 339 [HIRIEE 171 115 87 -165

Figure 1. Paraboctys PS[4x + 19,2x + 17,17]. The vertical ones here are the horizontal ones
of PS[x? + x + 15,x% — x + 17,x? — 3x + 19]. Because of the clockwise 90° rotation the
indexes y increase from top to bottom.

S1mp11fy1ng all vertlcals for offset f = 0

Classlf.
ye_ip 5 0, 0, 5 0,
il o | o [ofofoJofoJoJofofo]ol]ol[ol]
AN T O Y Y O A O A
[ [ | .IIIIIIIIIIIIIII.I

117 [EEHEEE 153 161
77 93 119 129 [EEEA
EEl o7 115

65 77 87

39
27 NEANEE -9
25 |19

-193[@ SEC 15[ 93 - - -3 ElE - - Ve 93 [-115 -
SCEN 165 [MERN 115 [ -93 |8 - - 3 - - - 7B —1;97
-163 -137 -113 AN - - - - - - - - - 71 XM 113 137 163 -

87 77
121 115 85
119 129 [EEA
-117\ IEEY 153 161 171 M 161 153 EENNERN 117 IEII 41
BN TN AT AR AR N TNRT RN IREA oo NEEY 167 RETE 157 NEEY 1co METANTERRFIARTEYRTRGARENER

45 BN o5 117 WEEA 155 171 185 07 215 [ 225 | 215 20 171 155

75 BION 125 147 BEIEA 185 201 215 [EEEA 237 245 257 245 237 [EEEA 215 201 185 [NEEA 147 125 EON 75

Figure 1. Paraboctys PS[—x? + x + 19, —x% + x + 17, —x? + x + 17]. All verticals of
Paraboctys PS[4x + 19,2x + 17,17] in offset f = 0.



2.3 The D-Submarine parabolas with variable offset on a vertical of PS[x +
2,x,x]

See the picture:

25 126 27 28 29 30 3t 32 133 34 35 3637 38 39 40~ 41 |42 43 44 45 46 47 48 49 50 51 52 iS3 |54 iS5 156 .57 S8 159
o- o . . o . ° o . .
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—

1 14_-13 7 -1 10 =9 8 765 A3 -2 U 2 3 5 6 7 8 9 10 11 12 a3 1 1 16 17 18 19

=0 ® °© . o o O ——e==-0 . ) . ‘\- D) S . [} . ) . o o © . . ) °© © . .
< X

17 1-16_ -1 4 1-13  -12 =H-—1=10 -9 8 7 & 5143 2 o 2 3 5 6 7 8 9 10 11 12 13 14 a5 16 17
[ o ° o . o . [5) < ) . o . o . L) \\n . o . ) . o . o o o ) .
S
17 Y6 T5 T4 13 T2 11 Yo 9 =5 7 % 5 =3 2 - D 1 z 3 T 5 ® 7 A A 1o 1 T2 3 Ta T T6 17
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G ® - Q-9 -0 -0 O == ---9---O -6 -‘/ = ¢ --b--b-----0---b---0---¢ +---0---6---6---¢ .

11 1-10 -9 8 7 -6 5 3 2 0 23 7 5 6 7 8 9 10 11 12 13 14 15 16 (17 18 19 20 21 22 23
€0 -~ O---0---O---0---O-——e=--0 o =Se<te -0 e - ®---0--0---0---8--0---0---0--0---0-----0---0---0---0---0----&
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0% . ¢ . $- -3 =m0 -4 --Q---$-0-0---0 3 ° ° ¢ --0--0 o---9¢ )
’/// -
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S 0000 OO0 0 - --O-- e 4 O---0--9---0---0--06---6 o--- e O------b---6---#

13 11 1 1617 18 119 120 1__22—123 2 25 12627 28~_1297 30 131 32 33 134 35 36 137 8 139 0 41 43 45 6 47
° 00 --0---o -0 --0 -0 -0 - st - --0--0---0---0 oo ©---9--0---0---0--0---0----&
2 26 27 2829 30 31 2 /33 _34—735 36 37 /38 39 0 41 Na2 143 a4 a5 6 147 a8 9 50 51 52 53 s 5 56 57 !s8 59
i) © ) ) ° - -6 © o ] [} -3 ) ] )

39 40 41 42 43 44 45 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72 73

O --0---8--0--0- -0 -l O---0 -0 -0~ & ---O- - & - ~K 6O - - - -0 --9--0- -0 --O--0---0---®--0---0---O---0---0---&

Figure 1. The D-Submarine parabolas in column x = 0 of the lattice-grid PS[x + 2, x, x]. They
have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = —y? 4+ Even * y — Square. In terms of the offset
value x = —y? + 2fy — f2.

Each parabola x = —y? + 2fy — f? in lattice-grid PS[x + 2, x, x] will produce a quadratic
sequence of the form Y[y] = ay? + by + c. Now, to determine the coefficients a, b, ¢, for each
sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[1]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y [1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the D-Submarine parabolas with a variable offset in a vertical
of lattice-grid PS[x + 2, x, x].

As we have D-Submarine parabolas, we can understand each sequence as being made of two
elements of the vertical column x = —1 to assume the @Y[—1] and @Y[1] elements position
and one element of the vertical column x = 0 to assume the @Y [0] elements positions.
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Consequently,

1. The elements on the vertical column x = —1 with offset f = —1 of the current paraboctys
PS[x + 2,x,x] is:

A165900 = [-1,—-1,1] = @Y[-1]=x?+x—1

2. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys

PS[x + 2,x,x] is:
A002378 = [2,0,0] = @Y[0] = x? — x

3. The elements on the vertical column x = —1 with offset f = 1 of the current paraboctys

PS[x + 2,x,x] is:

A165900 = [5,1,-1] = @Y[1] =x* —3x + 1

Finally, we create the new paraboctys PS[x? + x — 1,x% — x,x% — 3x + 1]:

[ Column > 115 14 |13 | 12 |11 - 5 | 2 |-
S O NN N S N N O )
b s s [ 7 [ 5]

[21 [ 19 ]
| c (24002101821 156]132]110] 90 [ 72 | 56 | 42 |

| 531 477 425 375 327 [EEAM 237 Im 155 117 - - - 219 225
674 616 560 A 454 404 356 310 266 [110] - - 194 -196 -196
533 481 3 37 -169 -169 [l

-138 -142 -144 -144 -142 -138

- - -119 <121 -121 -119 -115 [EEE)
-44 58 -70 LN -88 94 -98 -100 -100 -98 -94 -88 LM

25 -39 -51 EGM 69 75 IEEM 81 -8 IEEH 75 69 EGH 51

-58 -62 -64 -64 -62 -58 -52 -44 -34 -22

12 612 558 QI 456 408 362 318 276 236 198 162 128 96

581 529 385 341 299 259 221 185 [EN 119 EEH

TN 550 s00 452 406 362 320 280 242 206 172 140 RN 82

\n 519 471 425 381 339 299 261 225 [EEIM 159 129 KON 75

488 442 398 356 316 278 242 208 176 146 118 92 68

CAERNETAN 331 [ 203 [ 257223 [ 191 IEIMMERN 107 [ 83 | 61 |

426 384 344 270 236 204 174 146

B 35 355 PEEN 247 215 185 107 35

364 326 290 256 [EFEHN 194 166 140 116 94 74 [N 10 <14 16 -16 -14 - - 26 40 HAH 7

333 297 231 201 [EEN 147 123 RO 81 - - - - 33 81 123
302 268 236 206 178 152 128 106 - - - - 52 68 86 106 128 152
271 239 181 B 131 109 89 - 71 89 109 131 181
240 210 182 156 132 110 90 72 7290 110 132 156 182 210

RN s BB 131 109 89 71 89 109 131 [ 181 IETEN 239

178 152 128 106 86 68 52 B - E 106 128 152 178 206 236 268

\- 147 123Im 81 47 BEE 33 sl BN 123 147 EEEN 201 231 [EXEN 297

116 94 40 26 14 - - - - 40 BEM 74 94 116 140 166 194 [FFEN 256 290 326
85 65 I EEl 25 - 131 - [ 31 | 47 ICCHNREN 107 131|157 IECHEIES 247-355

54 36 - - - s4 74 96 [WFXN 146 174 204 236 270

E 34
[EERRGIN 101 | 223 [ 257203331 ] s

34 -44 52 - 26 46 68 92 118 146 176 208 242 278 316 356 398 442

51 Gl 69 75 81 -81 B8 75 M 129 159 MEEM 225 261 299 339 381 425 471
94 -98 -100 -100 -98 -94 32 82 [N 140 172 206 242 280 320 362 406 452 500

119 -121 -121 EGNIEEE 110 BN 185 221 259 299 341 385 529

142 -144 -144 -142 138 - - - 38 96 128 162 198 236 276 318 362 408 456 A 558

RPN 67 63 157 [ao 30 27 37 - | 71| 431 JERAMEEEN 567 |

-194 -196 -196 -194 -190 -184 -176 -166 -154 -140 -124 -106 -86 RN 146 184 266 310 356 404 454 PN 560 616

B 225 -225 [FFE] 219 -213 -205 [EEEN -183 -169 -153 -135 -115 -93  -69 81 117 155 EE 237 [N 327 375 425 477 531 645
Figure 1. Paraboctys PS[x? + x — 1,x? — x,x? — 3x + 1]. The verticals represent the

sequences produced by D-Submarine parabolas with variable offset on the vertical x = 0 of the
PS[x + 2, x, x]. The D-Submarine parabolas with positive offset produce the vertical sequences
on the left side of this table. The D-Submarine parabolas with negative offset produce the
vertical sequences on the right side of this table.
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If we turn the paraboctys clockwise 90° around the central point (0,0), we get:

8

<135 12,5 -11,5 11,5 125 135 145 155
= = 10 11 12 13 14 15

- 2 39 BENIEEN 54 85 116 147 550 581 612 [EN 674 705
-196 EIH 138 ETRIIETE 51 65 94 123 500 529 558 WFA 616 645

-196 -169 -142 -115 -88 M -34
169 -144 -119 94 69 -44
-121 98 75 52
-121 -100 [EEN 58
<119 -100 -81 -62
115 98 -81 -64

124 BIE -9+ IEEN 64

AEN 290 425 452 Al 533 560
206 231 256 356 381 406 456 481 [HIA 531
178 201 [N 247 270 339 362 385 408 [EIN 454 477
152 [EEN 194 215 236 299 320 341 362 404 425
128 147 166 185 204 [PFEN 242 261 280 299 318 [EEEM 356 375
106 123 140 A 174 BEIN 208 225 242 259 276 310 327
86 AN 116 BEIN 146 161 206 221 236 266 [EEIN

114 BN -88 -75 -62 68 81 94 172 P 237
- s2 M 74 85 96 84 ESN
38 65

74 92 HNEEEY 119 128 EEEM 146 155
3

40 54

Y[-11 - - - - - S50 38 AR 44 |
Y[0] - - - - - - - S 9 [ 10 [EEEIEFRIE]
i1l 2 - 5l < B 12 (13

185 146
221 206 [EEIM 176 161
259 242 225 208 [EEN 174 140 123

299 280 261 242 [PFEN 204 185 166 147 128

375

425 404 [EFEN 362 341 320 299 278 [EEEA 236 215 194 [NEEN 110 68 26 -16 BEFA -58 BEEM -100 -121 -142
477 454 408 385 362 339 316 270 247 [EEZN 201 132 86 40 BEAEEEEN 52 75 98 -121 -144

531 481 456 406 381 356 256 231 206 156 106 81 RN 44 69 -94 -119 -144 -169 -
560 533 [AEEEN 452 425 398 371 344 290 [EXEN 236 PN 155 | 128 BN 74 34 [EEM 88 -115 -142 -169
15 | 645 616 JELEMl 558 529 500 471 442 413 384 355 326 297 268 [FELNANY 152 123 94 65 36 22 -51 EHELE -138 BIF -196 -225

Figure 1. Paraboctys PS[3x + 2, x, —x]. The vertical ones here are the horizontal ones of
PS[x? 4+ x — 1,x? — x,x? — 3x + 1]. Because of the clockwise 90° rotation the indexes y
increase from top to bottom (opposite direction of the Y-axis).
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Simplifying all verticals for offset f = 0:

Rool 15,5 14,5 13,5 12,5 11,5 10,5 9,51 8,52 7,52 6,52 5,52 4,53 3,54 2,56 1,62 1,62 2,56 3,54 4,53 5,52 6,52 7,52 852 9,51 10,5 11,5 12,5 13,5 14,5 15,5

1

Roo20 =TSN I=14% =130 =120 =T [=015H =815 1=7450 1650 =575 124150 123150 122151 =161 12076 IO 1=076 ) =176 [=2150 =375 [=435) =550 126150 =750 128151 195 =T =120 I=T3 0 =l =S

Root2-Roo°l -30 28 26 24 22 20 -18 -16 -14 -12 -10 -81 61 41 22 -1 22 41 61 81 -10 -12 -14 -16 -18 -20 22 -24 26 -28 -30

Classif. ~DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES
0,5 0,5 0,5

726 749 770 789 806 [CFAM 834 854 861
668 [N 712 731 748 763 776 [ELEMl 796 803
612 635 656 WFAM 692 707 720 731 740 747
558 581 602 621 638 [[FEN 666 FAM 686 693 698
634 ZAN 646
519 536 551 564 584 591 596
452 471 488 EEN 516 527 536 543 548
406 425 442 [ZERA 470 481 490 497 502
362 381 398 413 426 437 446 453 458
320 339 356 371 384 395 404 411
236 259 [280] 299 5 364 371
FEN 198 221 242 261 | 278 326 333
162 185 206 | 225 | 242 KAl 270 290 297 290 225] 206 185 162
128 [HEH 172 BEY PPEN 236 247 256 [FLEN 268 268 [EIEN 256 247 236 [PFE) 191 [MkZN 151 RPH]
119 140 159 [ 176 |NEIN 204 215 [EFZH 231 236 [EEEN EEN 236 231 228 215 204 BEIN 176] 159 140 119 96 44
66 MECHEEEN 129 146[161]174 185 194 201 206 209 209 206 201 194 185 174[161[ 146 129 [ECANEEN 66
38 M 82 MM 118 [133] 146 WA 166 KEE ) 166 A 146 [133] 118 UM 32 NEM
75 92 RIYAINEOIMEIN 140 147 152 155 155 152 147 140 REINEEORIIA 92 75 HEH
CEB| o6 |BIOA 116 123 128 [EEENIEEANERN 128 123 116 BIVA o6 JMEEM 68 51
G 74 [ 85 ] 94 WEIN 106 WEEN BEEN 106 M 94 [85 | 74 NN 46 ER)
s4 [ 65| 74 81 86 86 81 74 [ 65] 54 26 9
EL470 56 |63 I 68 WENEER YA 36 BEN 9 28
52 47 31 N 25 44 65 140 -169
38 Pl 17 | 6 | 22 -39 -58 [N 102
26 26 14 -nm 34 51 70 -91 -114
-4+ EEEEENEN 124
9 -85 [ALCIBER
94 115 -138
98 -119 -
-81 [- - - - 9 [~ - - - -100[-121]-144]-169[-196] -225

740 731
686 NFall 666 NFEN 638 621 602 581
634 625 614 [N 586 BN 454 425
584 564 551 536 519 [ 456 [EEAN 404 375
536 sie JELEN 488 471 356 327
490 470 [ERAl 442 425 406
446 437 426 413 398 381 362
404 384 371 356 339[320]299 276
364 316 299 [280] 259 236

326 278 [261] 242 221

Nwwasssuulo N x
CwN=—uoso0o s O
Nw——WwNw—-Eol e

81 5 3 3 E - - 100121144 [-169-196 -225
ET) Z 2 E - - - - - -98 [-119]-142 [BIA -194 [BFE)
75 = B 2 B - - - 94 -115 -138 [@IEN -190 -219
[-157]-132] 69 - 1 [ 12 |11 -4 [HE - - BEA 184 -213
»176m 124 mmm -44 19 [ 20 [ 19 - 176 -205
70 -51 | 6 | 29 29 S [ =0 [0 = 166 EEH

7l 58 -39 IR 26 | 33 ] 38 38 - 58 [IEEA - 154 -183

65 -44 -25 [N 31 Yl s2 55 52 47 -44 65 -88 140 -169

-28 36 WVAIENEN 68 [Tl 63 56 28 -49 124 -153

(51 8 sa[65] 74 81 sc NEMEEDNNIN s6 81 10 N 106 135
BN 10 FEEM 46 BEM 74 | 85 | 94 KM 106 106 [N 94 86 -115
s1 68 BEEM o6 R 116 123 128 WEIN 128 123 116 64 -93

Hl 75 92 ECEARFPIOMERN 140 147 152 155 152 147 140 120 107 Y 440 -69

35 O 52 KON 118 [133] 146 WEEA 166 MEEN 176 MEXMMEZAREN 175 IEEN 166 WERA 146|133 ] 116 MM 2 AN 38 14

174161 ] 146 129 [EERANEEN 66 14 BE
236 231 [FPZH 215 204 QREN 159 140 119 96 [ 15 |
268 256 247 236 [PFEl 191 ke 151 WP
302 297 290 [FEIN 270 [EEFA 242 225] 206 185 162 [NEZAEEIN 81

341 338 333 326 278 [261] 242 221 198 [EEEN 146 117

66 BECMMEEN 129 146[161]174 185 194 201 206 209 KN 209 206 201 194

96 119 140 159 JEIN 204 215 [E2ZN 231 236
128 172 EQ PPEN 236 247 256 268
81 162 185 206 | 225 [ 242 [FEFAl 270 [EXEM 290 297 302

42| 261 ] 278 326 333 338 341

[280] 299 316 344 355 364 371 376 376 371 364 355 316 299 280] 259 236 184 155
0] 339 356 371 384 395 404 411 416 416 411 404 395 384 371 356 339[320]299 276 | 224 [ 195 ]
62 381 398 413 426 437 446 453 458 [EENER 458 453 446 437 426 413 398 381 36 318 [EEEN 266 237
406 425 442 [EEFHl 470 481 490 497 502 505 502 497 490 481 470 [EHA 442 425 406|385 362 JEEFA 310 [EEIM

452 471 488 [EHEN 516 527 536 543 548 551 548 543 536 527 516 JELEN 488 471 452 [EN ELEN 356 327
519 536 551 564 AN 584 591 596 EEENNETNIEEEN 596 591 584 JEEAN 564 551 536 519 500 EEEN 456 404 375

HN 529 550 MM sse UM 614 625 634 LM 646 649 W 649 646 (AW 634 625 614 UM 586 EEN 550 529 454 425
558 581 602 621 638 [N 666 Al 686 693 698 UM LN 698 693 686 M 666 HEEN 638 621 602 581 558
612 635 656 AN 692 707 720 731 740 747 752 755 755 752 747 740 731 720 707 692 [{FAHN 656 635 612
668 IEIM 712 731 748 763 776 AEAl 796 803 808 [EIRMIEIEAIEIEN sos 803 796 EEEM 776 763 748 731 712 AN 668
726 749 770 789 806 [EFAMl 834 845 854 861 866 869 869 866 861 854 845 834 [EFAN 806 789 770 749 726

734 786 830 849 866 894 905 914 921 926 930 926 921 914 905 894 866 849 830 JELEN 786 734

Figure 1. Paraboctys PS[—x? + 2, —x?, —x?]. All verticals of Paraboctys PS[3x + 2,x, —x] in
offset f = 0.

See these 5 sequences of prime numbers on PS[—x?2 + 2, —x?%, —x?]:
AXXXXXX =Yy
AXXXXXX =Yy
AXXXXXX =Yy
AXXXXXX =Yy
A212325=Y[y] = y? —y —13?
See the similarity between these sequences and the sequences shown in A014556 Euler's
"Lucky" numbers. In both cases, all the vertical sequences have the same reason for the limit of
prime numbers in the sequences. The two zero elements generate two streams of composites in

diagonals +45°.

x% +2,
yi-y
y:—y—3?
yi-y
yi-y
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Here the sequence next to the A002378 Oblong numbers is A165900 Values of Fibonacci
polynomial Y[y] = y? —y — 12. At A014556 Euler's "Lucky" numbers the sequence next to
the A002378 Oblong numbers is A002061 Central polygonal numbers: Y[y] = y2 —y + 1.

See that all prime number sequences in zero offset start with two primes squared elements
and all ends at the composite generator Y[y] = 3y? + 2y. This composite generator has two
classifications in the OEIS:

e A000567 Octagonal numbers: n*(3*n-2). Also called star numbers.
e A045944 Rhombic matchstick numbers: a(n) = n*(3*n+2).

BRI 0 EXEITIAN  2c0 U N ECTTYMCERN 520
I 0 T 0 LT STl 5 | o7 | 28 | 29 [21024] 54 [N
B 7 ECM 5 | 23 | 25 | 26 [isco0] 75 [REE
EYON | o1 | 22 | 25 [iocz6] oo [MRER
OO © | s | 19 | 20 [esao | 57 | 120 |
SO - | s | 6 | 17 [doso| 45 S
OO - | 1z | 15 | 14 [zisa| 35 | s6
B > | o | 0 | 11 [ 550 | 50 JEEE
S o EEET ¢

I s T I R
Sl 6 \—n——-_
500 [ 30 JEEPM 5 [ o [ & [ 7 [ 04| 24
0
Tl | s | e | 5 [2r0] 42 [ES
o [ 20 [esa0| 57 |20 | o | is | -7 [ -6 | 4805 51 %S
7 21 [ 22 | 23 [10626] cc JEETAE | 21 | 20 | 1o | 7050 [ o [EEE
5 [ 24 | 25 | 26 [1se00] 75 JEYSMM 5 [ 5a | 23 | 20 12144 oo JRED
o | 27 | 28 | 20 |71924] -5+ JPTSMM o | 27 | 26 | 25 |7550] 75 [ETE
IO 0 | 50 | 20 | 25 [74300] 57 [T

Figure 1. A000567 and A045944 are the same composite generator Y[y] = 3y? + 2y which is
the product of 3 consecutive integers divided by the sum of them.

15

3yBy-1)(By—-2)  3y(9y*-9y+2) 9y3 —9y% + 2y

Y
M= ya DGy - 9y — 3 3y — 1
(By? —2y)@By — 1) 5
= = -2
3y —1 3y y
Yiy] = 3yBy+ 1By +2)  3y(9y*+9y+2) 9y3+9y2+2y
Y 3y +By+1D+@By+2) 9y + 3 3y +1
(By* +2y)By + 1) 5
= = 2
3y + 1 YT+ 2y
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New sequences of primes we find when adding Integers. For example, adding 6, turn the

paraboctys clockwise 90°, and we have on offset f = 0:

Classif.

116 135 152 A 180 EIN 200 207 212
[ 107 [RE) 152 HEEN 172 EEN 184
98 WNEN 126 46 153 158

74 EEM 102 EREN 122 129 134

52 IGAERE o1 100 [EIWA 112
32 | 80 BEY
118 91 - 14 62 69

-134 QY4

-148 -121

-160 -133 -108
-170 QEEY] -118
-178

2 B

55 - 10

-133 4108 - - [ o [ 11 [ 20 [EX2

121 - 33 - 39
134 BT -s2

-118 91  -66

s2 IGAEE o1 100 [EREA

74 IEEM 102 HEEN 122 129

81 98 WNEN 126 46 153

[ 107 RERY 130 MEPN 163 kel 179 |
116 135 15 180 200 207
146 165 IEENEAETE 221 230 237

[ 5 [0 19 [ 30 5

212 207 200 [EEIN 180 [EIFA 152

184 EEN 172

158 126 [EEE]

134 129 122 [EEEN 102 BEEN
I 100 91 NENEGA
8 s0 [ 71 |

69 62

-118 -
-134

-177
-189

-207
-213
217

-219

112 i 100 91 IEEIEA
134 129 122 [EEN 102 EER
158 153 146 126 [EETE1
184 A 172 [EE 152 EER)
212
242

Figure 1. PS[—x2 + 8,—x2? + 6,—x? + 6]
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2.4 The D-Destroyer and D-Submarine interleaving parabolas with a
varying offset in PS[x + 2, x, x|

See the picture:

126 ‘27\~aza 29 30131 133 34— 35 136——37 138 39| 43 144 145 46 147 148 149 (50 S1 152 53 .54 S5 156 57 IS8 159
~0---0 . ~0<=0-- 0 *-=0--0 - --0---0---0---0--0--0--0--0--0--@--0--0--0--0--0--@
. 34 135 136 137 138 139 140 41 142 143 |44 145 146 147

-@---0---0---@---0---0-- -0 -e--O--0--0----
26 127 28 129 130 31 32 .33 .34 135 136 37

“@---0--0--@--0--@--0--0--0--0--0--€--

18 19 20 21 22 23 24 25 126 .27 28 29

O -8--0--0--0--® 0--0--0--0--®

12 13 14 15 16 17 18 419 20 21 22 23

O -0 -Q--OC--OC--C--O--®--O--0O--O----

8 9 10 11 12 13 14 15,16 117 18 |19
0--0--0--0--0----0--0--0--0--0--9

6 7 8 9 110 11 12 |13 14 15 16 |17
O--9--0--06--0---e *--O--0--0--9

9 10 11 12 13 14 15 16 17 18 19

0--0--0--e--0- - R RS SRR e SE

12 /13 14 15 16 8 19 20 21 22 23

B - OO e

18 19 20 21 22 23 24 25 26 27 28 29

O---¢--0 O--4--0--0--0--0--0--4

26 27 /28 /29 30 31 32 /33 34 35 36 37

Q-0 -0 -8 -0 -8 -0 -0 -0 -0 -0 -4~

36 37 '38 /39 40 ‘41 42 '43 44 a5 a6 47

Q-9 -0 -0 -0 -0 - -0 -0 -0 -4~

48 49 50 'S1 52 'S3 !s4 !S5 !s6 !57 'S8 59

00 -0--0--0--4--0--0--0--0--0--¢ -

62 '63 64 65 '66 67 68 '69 '70 '71 72 73
0 -0 -Q--Q--O----O--O--O .

Figure 1. The combined D-Destroyers and D-Submarines vertical parabolas in column x = 0 of
the lattice-grid PS[x + 2, x, x]. They have offset following the staircase function with the step
of a unit.

mln [10[ o8] [2] [ 5] nn Iﬂln [-16] m
o [0 | mmm
327 296 [EXIN 252 237 EES 170 155 E 93 - nslm <135 -138 -153 -

280 266 238 [EFZN 198 184 160 146 <126 -140 -
[293 LN 251 | il 186 HEEN 150 HEA

362 330 318 [EXIH 276 248 236 198 174 162 140 128 108
352 341 310 299 270 259 232 221 196 185 162 WEN 130 119
330 320 290 280 252 242 216 20 172 150 140
308 299 270 261 234 225 znum 159 138 129
286 278 250 242 216 208 184 176 154 146
140 133
180 174 152 146 126 [EE
162 136 [EIN 112
144 140 [EXN 116 98 94 3. E B B 6 -10 O I 4
126 123 104 O 84 81 - E EE '+ EHREE 2

108 106 88 70 68 0 | = B - - - 1628 0 38

1311 110
110 90
70

104 106 126 128

AR 123 144 147

116 136 140 162 166

102 [ECHA 126 HEIN 152 ERA 180 185

114 WEON 140 146 TN 174 198 204

60 65 NN 85
14 EEXNIETH 36 WIN 5+ 68 7+ BN o6
7

IEN 76 BEEM 100 BIEA 126 133 154 161 184 HEIN 216 [EZEN
18 26 68 84 92 JEIN 118 138 146 BITHN 176 200 208 234 242
[EEIN 216 225 252 261
232 242 270 280
248 259 EXEN 299

L s ]
[ o IO 75 92 ECIMEEN 129 150 159 HER
Ml 0 22 32 Pl s2 100 EEEN 130 140 162
[ 24l EEEN 108 119 140 HEIN 174
96

BIY 110
-130 -119

116 128

124 EEA
146
66 81 102 117 140 155 180 NEEN 222 237 266 [EEN 312 327375

150

162
7

-184 -169 [BITY -153 -150 -135 -130 -115 -108 -93 -84 -69 -58

1. The combined D-Destroyers and D-Submarines parabolas in table PS[x + 2, x, x].

CENTER

-EEEIEEEIE!EI
viil| 1 S 5 2 -1

2 2 0 0 0 0

Bl - 1 2 1 0 1

Figure 1. The center of the combined D-Destroyers and D-Submarines parabolas in table
PS[x + 2,x,x].
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2.4.1 The row Y[—1] = X,[x]

The center of the row Y[-1] ={...,-2,—-1,—-2,-1,0,1, ... }.
The row Y[—1] is the result of the interlacing between two quadratics:
Y[-1] = X,[x = even| + X,[x = 0dd]
X,[x = Even] is based on sequence [—2,—2,0] =n? + n — 2 = A028552 = n(n + 3)
x = Even = 2n

n= E
\2 X x2+2x—8
X,[x = Even] = A000208050502 = [-2,0,—2,0,0,0] = (E) + 5~ 2= S E—
A028560 x% — 32
= 0.25x% + 0.5x — 2 = — = [~2,-225,-2] = ~—— @f =0

AXXXXXX
={...,0,54,0,40,0,28,0,18,0,10,0,4,0,0,0, -2,0,-2,0,0,0,4,0,10,0,18,0,28,0,40,0, ... }
and
X, [x = 0dd] is based on sequence [-1,—1,1] =n? +n— 1 = 4165900
x=0dd =2n—-1

_x+1
"=

x+ 1\ x+1

X,[x = 0dd] = A010605090000 = [-1,0,—1,0,1,0] = < 5 ) 5

X+ 2x+1+2x+2-4 x*+4x—1
a 4 a 4

x? = (V5)
22

= 0.25x% + x — 0.25

A028875
=—,—=[-1-125-1] = @f =0
AXXXXXX
={..,71,0,55,0,41,0,29,0,19,0,11,0,5,0,1,0, —1,0, —1,0,1,0,5,0,11,0,19,0,29,0,41, ... }

x?+2x—8 A028560

Xi{|l—x=FE = =
1[—x ven| 2 2
x>+4x—1 A028875

X, [—x] = X;[—x = even| + X,[—x = 0dd]
x% 4+ (Bx — x(—1)*) — (4.5 + 3.5(=1)%)
4
x?+3x—4.5— (x +3.5)(-1)*
4

X1[_x] =

X1 [—x] =

_2x*+6x—9-x+ 7D

Xi[—x] =

8
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Process table to produce the row Y[-1]
SUB DES SUB

Classif. DES

y_ip -0,5 -1 -0,5 -2 X1 =
=l =l =1l -2 X1[Even]
028552 X1 Even] | *" (/") S A165900] X1 [odd | ™10 +
[ a [ 1 | 025 | [ 1 | 025 | X1[0dd]
[ b [ 1 | 05 | [ 1 | 1]
L 025 AKX
238 61,75 0 239 71 71
208 54 54 209 62,75 0
180 46,75 0 181 55 55
154 40 40 155 47,75 0
130 33,75 0 131 41 41 [ a1 |
10 108 28 28 109 34,75 0
BEl s 22,75 0 89 29 29
Bl 18 18 71 23,75 0 [ 18 |
54 13,75 0 55 19 19 I
Bl o 10 10 41 14,75 0 [ 10 |
28 6,75 0 29 11 11 [ 11 |
18 4 4 19 7,75 0
10 1,75 0 11 5 5 [ 5 |
2 4 0 0 5 2,75 0 [ o |
1 0 -1,25 0 1 1 1 [ 1 ]
0 2 -2 -2 -1 -0,25 0
-1 -2 -2,25 0 -1 -1 -1 R
-2 0 -2 -2 1 -1,25 0
4 -1,25 0 5 -1 -1 [ ]
10 0 0 11 -0,25 0 [ o |
18 1,75 0 19 1 1 [ 1 ]
El :: 4 4 29 2,75 0
40 6,75 0 41 5 5 [ 5 |
El s 10 10 55 7,75 0 [ 10 |
El o 13,75 0 71 11 11 [ 11|
B ss 18 18 89 14,75 0 [ 18 |
108 22,75 0 109 19 19 [ 19 |
130 28 28 131 23,75 0
154 33,75 0 155 29 29
-14 [REN] 40 40 181 34,75 0 [ 40 |
[Fl 208 46,75 0 209 41 41

Figure 1. Sequence A217571 is the row Y[—1] of the combined D-Destroyers and D-
Submarines parabolas in PS[x + 2, x, x]. Because of the change of offset that occurs when we
put the zeros, the direction of the final sequence is reversed.

The complete sequence in row Y[—1] with positive, zero, and negative indexes is:
A217571={..., 271, 238, 239, 208, 209, 180, 181, 154, 155, 130, 131, 108, 109, 88, 89, 70, 71,
54, 55, 40,41, 28, 29, 18, 19, 10, 11,4, 5,0, 1, -2, -1,-2,-1,0, 1, 4, 5, 10, 11, 18, 19, 28, 29,
40, 41, 54, 55,70, 71, 88, 89, 108, 109, 130, 131, 154, 155, 180, 181, 208, 209, 238, 239, 270,
271, 304, 305, 340, 341, ...}.
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2.4.2 The row Y[0] = X, [x]

The center of the row Y[0] = {...,2,2,0,0,0,0, ... }.
The row Y[0] is the result of the interlacing between two quadratics:
Y[0] = X,[x = even] + X,[x = 0dd]
X,[x = Even] is based on sequence [2,0,0] = n? —n = A002378 = n(n + 1)
x = Even = 2n

n= E
X,[x = Even] = 4000002030708 = [2,0,0,0,0,0] = (1) — £ =2
»[x = Even] = 4000002030708 = [2,0,0, 0, '0]:(5) —5 ="
A005563 22— 12
AXXXXXX ={...,0,42,0,30,0,20,0,12,0,6,0,2,0,0,0,0,0,2,0,6,0,12,0,20,0,30,0,42,0,56,0, ... }

and
X,[x = 0dd] is based on sequence [2,0,0] = n? —n = A002378
x=0dd =2n—-1

_x+ 1
"=y
x+1\¢ x+1
X,[x = 0dd] = A00002030708 = [0,2,0,0,0,0] = < > ) -
_xz+2x+1—2x—2_xz—1_025 5 025_A005563
- 4 Ty T U T e =Ty
xZ _ 12
= [0,~025,0] = ~——— @f =0
AXXXXXX ={...,56,0,42,0,30,0,20,0,12,0,6,0,2,0,0,0,0,0,2,0,6,0,12,0,20,0,30,0,42,0,56, ... }
x% —2x A005563
X,[—x = Even] = = 0.25x2 — 0.5x = —
x% =1 A005563
Xpl—x = 0dd] = —— = 0.25% ~ 0.25 = — —

X,[—x] = X,[—x = even] + X,[—x = 0dd]
x? — (x + x(=1)*) — (0.5 — 0.5(—1)*)

XZ[_X] = .
X,[—x] = x> —x—-05 —4(x +0.5)(—1)*

2x%2 —2x—1—(2x + 1)(—1)*

Xp[—x] =

8
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Process table to produce the row Y[0]

Classif. DES SUB DES SUB |
y_ip 0,5 1 o5 [N X2 =
B © RN T o T 0 1, .. Il aEen

(Even] [oddl +

[ a [ 1 [ 025 | [ 1 [ 025 | X2[0dd]
[ b [ a1 | 05 | | 1 | 0 |
Lo L0 0 A 0028 AXXXXXX]
210 0 210 56 56
14 182 42 42 182 48,75 0
BEl 56 35,75 0 156 42 42
B 3 30 30 132 35,75 0
Bl o 24,75 0 110 30 30
Bl o 20 20 90 24,75 0
EEl 2 15,75 0 72 20 20
Bl ¢ 12 12 56 15,75 0
42 8,75 0 42 12 12
HEl 30 6 6 30 8,75 0 6 |
20 3,75 0 20 6 6 6 |
12 2 2 12 3,75 0
6 0,75 0 6 2 2
2 2 0 0 2 0,75 0 o |
[ 0 -0,25 0 0 0 0 o |
0 0 0 0 0 -0,25 0 o |
-1 2 0,75 0 2 0 0 o |
-2 6 2 2 6 0,75 0
3 12 3,75 0 12 2 2
20 6 6 20 3,75 0 6 |
30 8,75 0 30 6 6 6 |
El « 12 12 42 8,75 0
56 15,75 0 56 12 12
El 20 20 72 15,75 0
El v 24,75 0 90 20 20
110 30 30 110 24,75 0
132 35,75 0 132 30 30
156 42 42 156 35,75 0
-13 kY 48,75 0 182 42 42
-14 [l 56 56 210 48,75 0 . 56|
240 63,75 0 240 56 56 - 56 |

Figure 1. Sequence A110660 is the row Y[0] of the combined D-Destroyers and D-Submarines
parabolas in PS[x + 2, x, x].

The complete sequence in row Y[0] with positive, zero, and negative indexes is:
A110660 =
{...,56,42,42,30,30,20,20,12,12,6,6,2,2,0,0,0,0,2,2,6,6,12,12,20,20,30,30,42,42,56,56, ... }.

20



2.4.3 The row Y[1] = X3[x]

The center of the row Y[1] = {...,6,5,2,1,0,—1, ... }.
The row Y[1] is the result of the interlacing between two quadratics:
Y[1] = X3[x = even] + X3[x = 0dd]
X;[x = Even] is based on sequence [6,2,0] = n? —3n+ 2 = 4002378 =n(n+ 1)
x = Even = 2n

n= E
x\2  3x x?>—6x+8
X3[x = Even] = A000002030708 = [6,0,2,0,0,0] = (E) -5 +2= —
A005563 x%—12
= 025x% — 15x + 2 = ———=[0,-025,0] = ~— @f = 0
AXXXXXX ={...,0,42,0,30,0,20,0,12,0,6,0,2,0,0,0,0,0,2,0,6,0,12,0,20,0,30,0,42,0,56,0, ... }

and
X;[x = 0dd] is based on sequence [5,1,—1] = n? —3n+ 1 = 4165900
x=0dd =2n—-1

_x+1
"=

x+1\* 3x+3

2 )_ 2
X2 +2x+1—-6x—6+4 x?>?—4x—1

- 4 - 4

x? = (V5)

X3[x = 0dd] = A10605090000 = [0,5,0,1,0,—1] = <

= 0.25x% — x — 0.25

A028875
AXXXXXX
={...,71,0,55,0,41,0,29,0,19,0,11,0,5,0,1,0,-1,0,-1,0,1,0,5,0,11,0,19,0,29,0,41, ... }

x*—6x+8 A005563

X3|l—x =FE = =
3[—x ven| 2 2
x> —4x—1 A028875

X3[—x] = X3[—x = even] + X3[—x = 0dd]
x? — (5x + x(—1)¥) — (4.5 + 3.5(—=1)%)
4
x? —5x —4.5— (x +3.5)(—-1)*

X3[—x] =

X3 [—x] =

4
2x2 —10x — 9 — 2x + 7)(—1)*

X3[—x] =

8
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Process table to produce the row Y[1]

Trean DES SUB DES SUB
viip 1,5 3 1,5 2 X3 =
1 1 2 X3[Even]
A165900| X3[0dd] | *>10dd] +
| 1 | 025 | X3[0dd]
E
0,25 ] Aoxxxxx AT 88652

0 181 41 41

156 30 30 155 34,75 0

132 24,75 0 131 29 29

110 20 20 109 23,75 0

90 15,75 0 89 19 19 [ 19 |

72 12 12 71 14,75 0

56 8,75 0 55 11 11 [ 11|

42 6 6 41 7,75 0 [ 6 |

30 3,75 0 29 5 5 [ 5 |

20 2 2 19 2,75 0

12 0,75 0 11 1 1 [ 1 ]

6 0 0 5 -0,25 0 | o0 |

2 0,25 0 1 -1 -1 [ 1 ]

0 0 0 -1 -1,25 0 [ 0 |

0 0,75 0 -1 -1 -1 e

2 2 2 1 -0,25 0

- 6 3,75 0 5 1 1 [ 1 ]
- 12 6 6 11 2,75 0 [ 6 |
- 20 8,75 0 19 5 5 [ 5 |
- 30 12 12 29 7,75 0
- 42 15,75 0 41 11 11 [ 11 ]
IEl s 20 20 55 14,75 0
72 24,75 0 71 19 19 E
Bl o 30 30 89 23,75 0
El 10 35,75 0 109 29 29
132 42 42 131 34,75 0
156 48,75 0 155 41 41
182 56 56 181 47,75 0 [ 56 |
210 63,75 0 209 55 55
240 72 72 239 62,75 0
272 80,75 0 271 71 71

Figure 1. Sequence A188652 is the row Y[1] of the combined D-Destroyers and D-Submarines
parabolas in PS[x + 2, x, x].

The complete sequence in row Y[1] with positive, zero, and negative indexes is:

A188652 =
{...,41,30,29,20,19,12,11,6,5,2,1,0,-1,0,-1,2,1,6,5,12,11,20,19,30,29,42,41,56,55,72,71, ... }.

Approximately, the elements of row Y[1] form the junction of the sequences:

A140144 a(1)=1, a(n)=a(n-1)+n"1 if n odd, a(n)=a(n-1)+ n™0 if n is even. {1, 2, 5, 6, 11, 12,
19, 20, 29, 30, 41, 42, 55, 56, 71, 72, 89, 90, 109, 110, 131, 132, 155, 156, 181, 182, 209, 210,
239, 240, 271, 272, 305, 306, 341, 342, 379, 380, 419, 420, 461, 462, 505, 506, 551, 552, 599,
600, 649, 650, 701, 702, 755, 756, 811, 812, 869, ...} in the left side, and

A 188652 First differences of A000463 {0, 1, 2,-1, 6, -5, 12, -11, 20, -19, 30, -29, 42, -41, 56,
-55,72,-71,90, -89, 110, -109, 132, -131, 156, -155, 182, -181, 210, -209, 240, -239, 272, -271,
306, -305, 342, -341, 380, -379, 420, -419, 462, -461, 506, -505, 552, -551, 600, -599, 650, -649,
702, -701, 756, -755, 812, -811, 870, -869, 930, -929, 992, -991, 1056, -1055, 1122, -1121, 1190,
-1189, 1260, -1259, 1332, -1331, 1406, ...} in the right side, where

e A000463 is n followed by n?{1, 1,2, 4, 3,9, 4, 16, 5, 25, 6, 36, 7, 49, 8, 64, 9, 81, 10,
100, 11, 121, 12, 144, 13, 169, 14, 196, 15, 225, 16, 256, 17, 289, 18, 324, 19, 361, 20,
400, 21, 441, 22, 484, 23, 529, 24, 576, 25, 625, 26, 676, 27, 729, 28, 784, 29, 841, 30,
900, 31, 961, 32, 1024, 33, 1089, 34, 1156, 35, 1225, 36, 1296,...}.
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2.5 Dividing the specific trianz TZ[x + 2, x, x] according to the value of [\/HJ

Because of the occurrence of sequence A217571 at Y[—1], we noticed an interesting study by
Takumi Sato at http://vixra.org/pdf/1210.0025v7.pdf. Linking this study to quadratics, we can
divide each of the trianz TZ[x + 2,x, x] at PS[x + 2, x, x] into four parts according to the four

sequences and colors:

A217570 Numbers n such that floor(sqrt(n)) = floor(n/(floor(sqrt(n))-1))-1.

9,16, 17, 25, 26, 27, 36, 37, 38, 39, 49, 50, 51, 52, 53, 64, 65, 66, 67, 68, 69, 81, 82, 83, 84,
85, 86, 87, 100, 101, 102, 103, 104, 105, 106, 107, 121, 122, 123, 124, 125, 126, 127, 128, 129,
144, 145, 146, 147, 148, 149, 150, 151, 152, 153, 169, 170, 171, 172, 173,

A217571 a(n) = (2*n*(n+5) + (2*n+1)*(-1)"n - 1)/8

1,4,5,10,11, 18, 19, 28, 29, 40, 41, 54, 55, 70, 71, 88, 89, 108, 109, 130, 131, 154, 155, 180,
181, 208, 209, 238, 239, 270, 271, 304, 305, 340, 341, 378, 379, 418, 419, 460, 461, 504, 505,
550, 551, 598, 599, 648, 649, 700, 701, 754, 755, 810, 811, 868,

A217575 Numbers n such that floor(sqrt(n)) = floor(n/floor(sqrt(n)))-1.

2,6,7,12,13, 14, 20, 21, 22, 23, 30, 31, 32, 33, 34, 42, 43, 44, 45, 46, 47, 56, 57, 58, 59, 60
61, 62,72,73,74,75,76,77,78,79, 90, 91, 92, 93, 94, 95, 96, 97, 98, 110, 111, 112, 113, 114,
115,116, 117, 118, 119, 132, 133, 134, 135, 136,

A005563 a(n) = n*(n+2) = (n+1)"2 - 1.

0, 3,8, 15, 24, 35, 48, 63, 80, 99, 120, 143, 168, 195, 224, 255, 288, 323, 360, 399, 440
528, 575, 624, 675, 728, 783, 840, 899, 960, 1023, 1088, 1155, 1224, 1295, 1368, 1443, 1520
1599, 1680, 1763, 1848, 1935, 2024, 2115, 2208, 2303, 2400, 2499, 2600,

We get:

xip 20 -19 18 -17 -6 -15 73 63 53 13 03 0,75 1,75 2,75 3,75 4,75 575 6,75 7,75 8,75 9,75 10,8 11,8 12,8 13,8 14,8 158 16,8 17,8 188 19,8

xfocus 20 -19 -18 -17 -16 -5 7 6 5 A Bl 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

LR I I T AT I T I T T I I T T AT I A TN AT T A I T AT Y AT T T T IO T
a 69 65 61 29 21 5 -3 -7 -1 15 19 -23 27 -31 -35 -39 -43 -47 -51 -55 -59 -63 67 -71 <75 79
1val 8,31 8,06 7,81 5,39 4,58 2,2 R B S B B B I B B S S S B S SR SR SR S S S
C.G. 0,31 0,06 0,81 0,39 M 0.58 0, 24 | 0 R
Root1 4,65 4,53 441 319 3 2,79 1,62 T HERE BERE R R R B R B R B R R R SRR B R B S SR R
Root2 -3,7 -3,5 34 2,2 -2 -1,8 -0,6 O #H## BERE HHRE B B R B SR SR B R R R R R B R SR R R
Root2-Root1 8,3 -8,1 -7.8 7 6,7 -54 -5 -4,6 al 36 -3 2.2 Al idiciloiiliiiliiilocidiioloiloiiliciliioloioloiilicidocidicolodiid
Classif. DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES
0, 0, 0, S 5 5 5 5 S 5 5 5 S 5 5 5 5

n--nn--n-nnmmmm

| 2 | 3| [ s | 1 13 14 16
13 me 17 18
17 18 19 Il 21 22 23

23 EZW 25 26 27 28 29 31 32

1 4 5 32 33 34 36 37 39 40

1 el 3 14 16 45 49 50

23 25 26 27 28 61 62

36 37 38 39 40 41 [IEEE 43 75 76

53 54 55 57 58 59 60 61 62 64 65 66 67 68 69 91 92

73 74 75 76 77 78 79 I 81 82 83 84 85 86 87 102 103 104 105 106 ACEN 110 |

91 92 93 94 95 96 97 98 [EEM 100 101 102 103 104 105 106 107 122 123 124 125 126 129 130

113 114 115 116 117 118 119]2] 122 123 124 125 126 127 128 129 - 142 144 145 146 147 148 151 152

136 137 138 139 140 141 142 BEEN 144 145 146 147 148 149 150 151 152 153 171 172 175 176

162 163 164 165 166 ]57‘ 169 170 171 172 173 174 175 176 177 178 179 197 198 201 202
BEE 190 191 192 193 194 [EEHN 196 197 198 199 200 201 202 203 204 205 206 207 225 226 229 230
IBEN 220 221 222 223 [EEZN 225 226 227 228 229 230 231 232 233 234 235 236 237 259 260
252 253 254 [N 256 257 258 259 260 261 262 263 264 265 266 267 268 269 291 292

IBEA 286 287 [EXEN 289 290 291 292 293 294 295 296 297 298 299 300 301 302 303
322 [EEEN 324 325 326 327 328 329 330 331 332 333 334 335 336 337 338 339
[EIS 361 362 363 364 365 366 367 368 369 370 371 372 373 374 375 376 377
400 401 402 403 404 405 406 407 408 409 410 411 412 413 414 415 416 417
442 443 444 445 446 447 448 449 450 451 452 453 454 455 456 457 458 459
486 487 488 489 490 491 492 493 494 495 496 497 498 499 500 501 502 503
532 533 534 535 536 537 538 539 540 541 542 543 544 545 546 547 548 549
580 581 582 583 584 585 586 587 588 589 590 591 592 593 594 595 596 597
630 631 632 633 634 635 636 637 638 639 640 641 642 643 644 645 646 647
682 683 684 685 686 687 688 689 690 691 692 693 694 695 696 697 698 699
736 737 738 739 740 741 742 743 744 745 746 747 748 749 750 751 752 753
792 793 794 795 796 797 798 799 800 801 802 803 804 805 806 807 808 809
850 851 852 853 854 855 856 857 858 859 860 861 862 863 864 865 866
EXH 910 911 912 913 914 915 916 917 918 919 920 921 922 923 924 925 926

Figure 1. Tetractyz divided into 4 regions according to sequences A217570, A217571,
A217575, and A005563.

See amplified:
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-1 10 93 -83 -73 63 53 -43 -33 -23 -1,3 -03 0,75 1,75 2,75 3,75 4,75 5,75 6,75 7,75 8,75 9,75 10,8
11 10 9 8 -7 6 5 -4 -3 -2 -1 IKH 2 3 4 5 6 7 8 9 10 M
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
45 41 37 33 29 25 21 17 13 9 5 1 3 -7 11 -5 -19 23 -27 -31 -35 -39 -43
6,71 6,4 6,08 574 539 5 4,58 4,12 3,61 3 2,24 1 H### #HHE HHHE B B SR HRE B S S
0,71 0,4 0,08 0,74 0,39 [l 0.58 0,12 0,61 [ 0.24 [ #### ##4# ittt Bahtst HHAH SR SHAHR HAHR BHAH FHAH R
3,85 3,7 3,54 3,37 3,19 3 2,79 2,56 2,3 2 1,62 |  #### HE#HE HHEE SRS B B S IS B B
2,9 2,7 2,5 2,4 2,2 2 1,8 -1,6 1,3 -1 -0,6 0 #### s #HEE BEHE SHEE SHEE BHHE BHIH SBAE SRR BHHA
6,7 -6,4 6,1 -57 5,4 -5 4,6 -4,1 -3,6 -3 2,2 -1 #### HEEHE HEHE R SHEE REHE B R R SR R
DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES
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Figure 1. A larger view of the trianz TZ[x + 2, x, x] when divided into the 4 regions according
to sequences A217570, A217571, A217575, and A005563.

Except for the numbers 0,1,4 the sequence A217570 contains all A000290 the Square
numbers. Let's call the area occupied by the sequence A217570 the area of the squares.
The sequence A217571 contains all the A165900 Values of Fibonacci polynomial and

A028552 Y[y] = y? —y — 2 = y(y + 3). Let's call the area occupied by the sequence A217571
the Fibonacci area.

The sequence A217575 contains all the A002378 Oblong numbers. Let's call the area occupied
by the sequence A217575 the Oblong area.

The sequence A005563 contains all the (Square minus One) numbers. Let's call the area
occupied by the sequence A005563 (Square minus One) area.

Figure 1. Color map of the 4 areas.
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Figure 1. The square area, the oblong area, the (square minus 1) area, and the Fibonacci area in
trianz TZ[x + 1,x,x + 1] and TZ[x + 2, x, x] when divided into the 4 regions according to
sequences A217570, A217571, A217575, and A005563.
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We can see that:

1. A334163 All primes located between an oblong number and its following square number
{3, 7,13, 23,31, 43, 47,59, 61, 73, 79, 97, 113, 137, 139, 157, 163, 167, 191, 193, 211,
223,241,251, 277, 281, 283, 307, 311, 313, 317, 347, 349, 353, 359, 383, 389, 397, 421,
431, 433,439, 463, 467, 479, 509, 521, 523, 557, 563, 569, 571, 601, 607, 613, 617, 619,
...} are in the Oblong area. The only prime number in the Oblong area, but not in the
sequence A334163 is Prime 2.

2. A307508 All primes that are located between a square number and its following oblong
number {2, 5, 11, 17, 19, 29, 37, 41, 53, 67, 71, 83, 89, 101, 103, 107, 109, 127, 131, 149,
151,173, 179, 181, 197, 199, 227, 229, 233, 239, 257, 263, 269, 271, 293, 331, 337, 367,
373,379,401, 409, 419, 443, 449, 457, 461, 487, 491, 499, 503, 541, 547, 577, 587, 593,
599, ...} are distributed between the Fibonacci and Squares areas. The only prime number
in the sequence A307508 but not in the Fibonacci and Squares areas is Prime 2.

So, we can conclude that:

1. We should deepen the treatment of Prime 2 concerning sequences A334163 and A307508.

2. We can sub-divide the sequence A307508 into two parts:

a. Primes from A217571. They are all located between a square number and its
following oblong which is the sequence A002327 Primes of the form n"2 - n - 1.
{5, 11, 19, 29, 41, 71, 89, 109, 131, 181, 239, 271, 379, 419, 461, 599, 701, 811,
929, 991, 1259, 1481, 1559, 1721, 1979, 2069, 2161, 2351, 2549, 2861, 2969,
3079, 3191, 3539, 3659, 4159, 4289, 4421, 4691, 4969, 5851, 6971, 7309, 7481,
8009, 8741, 8929, ...}. Also primes of form Oblongt+xty or xy £ x + vy,
where x and y are two consecutive numbers:

xy+x+y=x(x—1D+x+x—-1)=x*+x—-1

xy—x—y=x(x—1)—-x—-(x—-1)=x*-3x+1=x?—-x—-1

b. Axxxxxx Primes from A217570. They are all located between a square number
and its following oblong {17, 37, 53, 67, 83, 101, 103, 107, 127, 149, 151, 173,
179, 197, 199, 227, 229, 233, 257, 263, 269, 293, 331, 337, 367, 373, 401, 409,
443, 449, 457, 487, 491, 499, 503, 541, 547, 577, 587, 593, 631, 641, 643, 647,
677, 683, 691, 733, 739, 743, 751, 787, 797, 809, 853, 857, 859, 863, 907, 911,
919, 967, 971, 977, 983, 1031, 1033, 1039, 1049, 1051, 1091, 1093, 1097, 1103,
1109, 1117, 1163, 1171, 1181, 1187, 1229, 1231, 1237, 1249, 1297, 1301, 1303,
1307, 1319, 1321, 1327, 1373, 1381, 1399, 1447, 1451, 1453, 1459, 1471, 1523,
1531, 1543, 1549, 1553, 1601, 1607, 1609, 1613, 1619, 1621, 1627, 1637, ...},
where
Axxxxxx = elements from A30750 without the elements A217571.

3. To study the distribution of primes in these areas.
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3  Study of the sequences produced by the elements in C
parabolic formation in the PS[x + 2, x, x]

3.1 The C-Destroyer parabolas with offset Zero in PS[x + 2, x, x|

See the picture:
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Figure 1. The C-Destroyer parabolas of the form x = y? —y + ¢ for —10 < ¢ < 10 with offset
f = 01in lattice-grid PS[x + 2, x, x]. They produce the paraboctys PS[x + 4, x, x].

Thus, the C-Destroyer parabolas of the form x = y? — y + ¢ for —10 < ¢ < 10 with offset

f = 0 in lattice-grid PS[x + 2, x, x] produce paraboctys with coefficient a = 2:
[Courm 15 T4 15 Tl Lo L | 2l i Tol 125 1elsTel7lsloliolnlizlislielis]
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Figure 1.The PS[x + 4, x, x] in the table form.
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3.2 The C-Destroyer parabolas with variable offset on a vertical of PS[x +
2,x,x]

See the picture:
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Figure 1. The C-Destroyer parabolas in column x = 0 of the lattice-grid PS[x + 2, x, x]. They
have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = y? — Odd * y + Oblong. In terms of the offset

value: x = y2 — (2f + Dy + (f* + f).

Each parabola x = y? — (2f + 1)y + (f2 + f) in lattice-grid PS[x + 2, x, x] will produce a
quadratic sequence of the form Y[y] = ay? + by + c¢. Now, to determine the coefficients a, b, c,
for each sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y[1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the C-Destroyer parabolas with a variable offset in a vertical
of lattice-grid PS[x + 2, x, x].

As we have C-Destroyer parabolas, we can understand each sequence as being made of one
element of the vertical column x = 2 to assume the @Y [—1] elements position and two elements
of the vertical column x = 0 to assume the @Y [0] and @Y [1] elements positions.
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Consequently,
1. The elements on the vertical column x = 2 with offset f = —1 of the current paraboctys
PS[x + 2,x,x] is:
A014206 = [2,2,4] = @Y[-1] =x* +x + 2
2. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys
PS[x + 2,x,x] is:

A002378 = [2,0,0] = @Y[0] = x? — x
3. The elements on the vertical column x = 0 with offset f = 1 of the current paraboctys
PS[x + 2,x,x] is:
A002378 = [6,2,0] = @Y[1] = x? — 3x + 2
Finally, we create the new paraboctys PS[@Y[—l], @Y|[0], @Y[l]] = PS[x?>+x +2,x% —

2 .
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Figure 1. Paraboctys PS[x? + x + 2,x? — x,x? — 3x + 2]. The verticals represent the
sequences produced by C-Destroyer parabolas with variable offset on the vertical x = 0 of the
PS[x + 2,x,x].

The C-Destroyer parabolas with positive offset produce the vertical sequences on the left side
of this table. The C-Destroyer parabolas with negative offset produce the vertical sequences on
the right side of this table.
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Slmphfymg all verticals for offset f = 0:
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Figure 1. This paraboctys is the verticals from PS[x? + x + 2,x? — x,x% — 3x + 2] in offset
f=o.

See that PS[x?+ x + 2,x? —x,x%> —3x + 2] produces vertical sequences with the
interlacing of destroyer and submarine parabolas. Therefore, in offset =0, the resulting
paraboctys is:

For Y[1]: interlacing between [6,2,2] = 2x% — 2x + 2 and [2,0,2] = 2x?

For Y[0]: interlacing between [4,0,0] = 2x% — 2x and [2,0,2] = 2x?

For Y[—1]: interlacing between [6,2,2] = 2x? — 2x + 2 and [6,4,6] = 2x? + 4

If we turn the paraboctysPS[x? + x + 2,x% — x,x% — 3x + 2] clockwise 90° around the
central point (0,0), we get:
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Figure 1. Paraboctys PS[2x?% + 2x + 2,2x2,2x% — 2x]. The vertical ones here are the
horizontal ones of PS[x? + x + 2,x? — x,x% — 3x + 2].

Because of the clockwise 90° rotation the indexes y increase from top to bottom (opposite
direction of the Y-axis).

Simplifying all verticals for offset f = 0:
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Figure 1. Paraboctys PS[x? — x + 2,x2 — x,x% — x]. All verticals of Paraboctys PS[2x? +
2x + 2,2x2,2x? — 2x] in offset f = 0.
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Where are the sequences of prime numbers? They appear when we eliminate composite
generators by adding Odd numbers.
For example: when we move all C-Destroyer parabolas from vertical column x = 0 to vertical
column x = 17 it is equivalent to do
PS[x?+x+2,x> —x,x> —3x+ 2]+ 17 = PS[x* + x + 19,x? —x + 17,x* — 3x + 19]

See the picture:
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Figure 1. Paraboctys PS[x? + x + 19,x? — x + 17,x? — 3x + 19]. The verticals represent the
sequences produced by C-Destroyer parabolas with variable offset on the vertical x = 17 of the
PS[x + 2,x,x].

If we turn the paraboctys clockwise 90° around the central point (0,0), we get:
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Figure 1. Paraboctys PS[2x? + 2x + 19,2x% + 17,2x% — 2x + 17]. The vertical ones here are
the horizontal ones of PS[x? + x + 19,x? — x + 17,x% — 3x + 19]. Because of the clockwise
90° rotation the indexes y increase from top to bottom.
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Figure 1. Paraboctys PS[x? — x + 19,x% — x + 17,x% — x + 17]. All verticals of Paraboctys
PS[2x? + 2x 4+ 19,2x% + 17,2x% — 2x + 17] in offset f = 0.
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3.3 The C-Submarine parabolas with variable offset on a vertical of PS[x +
2,x,x]

See the picture:
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Figure 1. The C-Submarine parabolas in column x = 0 of the lattice-grid PS[x + 2, x, x]. They
have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = y? — Even * y + Square. In terms of the offset
value x = y2 — 2fy + f2.

Each parabola x = y? — 2fy + f? in lattice-grid PS[x + 2,x, x] will produce a quadratic
sequence of the form Y[y] = ay? + by + c. Now, to determine the coefficients a, b, ¢, for each
sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y [1].

So, let’s create the new paraboctys PS [@Y[—l], @Y[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the C-Submarine parabolas with a variable offset in a vertical
of lattice-grid PS[x + 2, x, x].

As we have C-Submarine parabolas, we can understand each sequence as being made of two
elements of the vertical column x = 1 to assume the @Y[—1] and @Y [1] elements position and
one element of the vertical column x = 0 to assume the @Y [0] elements positions.
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Consequently,
4. The elements on the vertical column x = 1 with offset f = —1 of the current paraboctys
PS[x + 2,x,x] is:
A002061 =[1,1,3] = @Y[-1] =x*+x +1
5. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys
PS[x + 2,x,x] is:
A002378 = [2,0,0] = @Y[0] = x? — x
6. The elements on the vertical column x = 1 with offset f = 1 of the current paraboctys
PS[x + 2,x,x] is:
A002061 =[7,3,1] = @Y[1] =x? —3x + 3

Finally, we create the new paraboctys PS[x? + x + 1,x% — x,x% — 3x + 3]:
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Figure 1. Paraboctys PS[x? + x + 1,x? — x, x? — 3x + 3]. The verticals represent the
sequences produced by C-Submarine parabolas with variable offset on the vertical x = 0 of the
PS[x + 2, x, x]. The C-Submarine parabolas with positive offset produce the vertical sequences

on the left side of this table. The C-Submarine parabolas with negative offset produce the
vertical sequences on the right side of this table.
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Simplifying all verticals for offset f = 0:
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[EEN 126 146 135 [EEEA 148 172 165 HEXM 186 214 EANNEZN
174 159 [EEENEEEN 192 EIM 207 198 226 219 249 244 276
213 196 220 205 231 218 246 235 265 256 315
336 344 309 319 286 298 267 EEIN 252 268 [EZIN 259 253 | 232 256 237 [ETEN 246 274 259 289 276 308 297 [EEIN 322 358
381 391 354 366 [EERM 345 312 328 297 315 286 [EHUA 276 | 300 |IEEEA 303 282 310 291 321 304 336 321 355 [EZEN 378 [EIEA 405
430 442 403 361 [EEEN 346 366 335 357 328|352 325]351[326 354 [EENN 361 340 372 EEEN 387 370 406 391 429 416 456
526 [EEEN 497 456 472 [EEEN 451 414 434 [ECCNEEAN 388 412 381 (407 378] 406 384 416 393 427 406 442 423 [EFM 444 484 469 511
\- 585 540 556 513 531 490 510 471 493 456 480 445 471 438466 435|465 436 468 441 475 450 486 JEGEN 501 480 520 501 543 526 570

100 100 81
171 169 144 144 121 123 102 106 87 93
225 196 196 169 171 146 150 WFEA 133 112 EECIEDIN 111
225 [EEEA 198 202 175 NEHEEA 164 141 130 142
258 262 231 237 208 216 189 [EFN 174 186 MEEN 177
295 301 268 276 245 FE 226 238 [EIRN 225 200 216

Figure 1. This paraboctys is the verticals from PS[x? + x + 1,x? — x,x% — 3x + 3] in offset
f=o.

See that PS[x?+x+ 1,x? —x,x? —3x + 3] produces vertical sequences with the
interlacing of y°;,, between their ACC parabolas. Therefore, in offset =0, the resulting paraboctys
is:

For Y[1]: interlacing between [6,3,4] = 2x% — x + 3 and [2,1,4] = 2x% + x.

For Y[0]: interlacing between [3,0,1] = 2x% — x and [1,0,3] = 2x2 + x.

For Y[—1]: interlacing between [4,1,2] = 2x? — x + 1 and [4,3,6] = 2x? + x + 3

35



If we turn the paraboctys clockwise 90° around the central point (0,0), we get:

d2lifol 9] 8] 7] 6] 5] 4] 3] 2] afol1[2]3]4]5]56]
Classif. DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES
y_ip <145 -135 -125 -11,5 -10,5 -95 -85 7,5 -6,5 -5,5 -4,5 -3,5 2,5 1,5 -0,5 0,5 1,5 2,5 3,5 4,5 55 6,5 7.5 8,5 9,5 105 11,5 12,5 13,5 145 155
f RSN IREE BN REE R RO S -8 =7/ -6 5 9 10 11 iz | is ) a4 ) is

[ 7 [ o ]
55

175 A 141 130 123 [EXN 121 126 135 148 165 P20 273 | 310 351 396 445 498 750 [EEEN 900 981 1066 FREH

14 | 225 196 171 150 133 XN 111 106 105 108 115 126 141 160 PAOMPZEN 276 315 358 405 456 511 570 633 700 771 846 925 1008 1095
13 196 169 146 HEEA 112 BN 92 EEM 106 119 136 244 [FEIN 322 [EIFA 416 469 526 JEEEM 652 721 794 871 952 1037
[-12 [ 231 198 169 144 123 106 93 78 81 88 114 214 249 B 378 744 819 898 981
(1| 202 171 144 121 102 87 66 NTAMEZE 81 94 186 219 256 297 [EEM 391 444 501 562 627 696 TN 846 927
208 175 146 121 100 [MEE M 55 58 65 76 160 [EIM 226 265 308 355 406 TN 520 583 A 721 796 875

216 [N 150 123 100 81 Wl 45 46 51 136 165 198 235 276 321 370 423 480 [EZAM 606 748 825

226 189 HEHANEA 102 81 B 36 39 114 141 172 207 246 289 336 387 442 501 564 777

[ -7 | 238 [EEN 164 133 106 [IEE 38 PN 20 | 94 119 148 [EIM 218 259 304 [EEEN 406 [EEEN 524 589 658 731
[ -6 | 252 [EANM 174 141 112 87 36 27 22 21 76 BEEM 126 WEEA 192 231 274 321 372 427 486 549 616 687
[ -5 [315 268 225 186 EENEE 93 60 81 106 135 [IEHN 205 246 291 340 393 450 511 576 645
[ -4 |335 286 [FZEN 200 HEEN 130 [EIXH 46 65 88 115 146 [KEIM 220 [EXEN 310 361 416 475 538 605
[ -3 [357 I 259 216 177 142 111 YAl 126 159 196 237 282 [EEIN 384 441 502 567
2 | 381 328 279 234 81 108 JJEFN 174 213 256 303 354 ENEN 468 531
YE11| -1 [ 407352301254 G0N 232 [PV 326 [EREN 436 [ 497
viol [ 435 [ 378325 [ 276 [ 136 171 BN 253 [ 300 | 351 [ 406 | 465
vy 1 [465] 406351 PO 153 [ 190 [ 231 ] 276 [ 325 [ 378435
[ 2 [497 436 BB 106 [NERZ 254 301 352 407
[ 3 |531 468 EXXA 303 174 [EEEN 108 81 58 39 18 69 94 123 234 279 328 381
| 4 | 567 502 441 384 [EERN 282 237 196 159 126 72 S 27 IEEEIEN s+ 111 142 177 216 259 A 357
[ 5 | 605 538 475 416 361 310 [EXEN 220 [EEIM 146 115 88 65 46 BEN 16 25 38 55 76 [ECIM 130 WEEN 200 EZEM 286 335
| 6 |645 576 511 450 393 340 291 246 205 JWILN 135 106 81 60 25 36 51 70 93 [NEN 186 225 268 315
[ 7 | 687 616 549 486 427 372 321 274 231 192 [HEEA 126 IEEM 76 21 66 87 112 141 174 [FINN 252 297
[ 8 | 731 658 589 524 [EXEN 406 [EEEN 304 259 218 [EEEM 148 119 29 64 106 133 164 EEEN 238 [EXIH
[ 9 |777 564 501 442 387 336 289 246 207 172 141 39 64 81 102 189 226 267
[ 10 | 825 748 Al 606 EZAN 480 423 370 321 276 235 198 165 51 66 81 100 123 150 [KEEN 216 5
[11 | 875 796 721 XM 583 520 [EXEM 406 355 308 265 226 [HEIM 65 58 55 m 70 100 121 146 175 208 245
[ 12 | 927 846 TN 696 627 562 501 444 391 [JEZEN 297 256 219 132 [ 81 66 69 76 87 102 121 144 171 202 237
[ 13 | 981 898 819 744 [[HEN 606 543 484 429 378 249 G 133 88 81 78 84 93 106 123 144 169 198 231
[ 14 [1037 952 871 794 721 652 [EXHM 526 469 416 [EXFA 322 [EXIN 182 [157 119 106 BEEM 92 91 94 [EGIM 112 WEEA 146 169 196 [EFEA
[ 15 |1095 1008 925 846 771 700 633 570 511 456 405 358 315 A 183 141 126 115 108 105 106 111 JEIN 133 150 171 196 225

Figure 1. Paraboctys PS[2x? + 3x + 2,2x2 + x, 2x? — x]. The vertical ones here are the
horizontal ones of PS[x? + x + 1,x% — x,x? — 3x + 3]. Because of the clockwise 90° rotation
the indexes y increase from top to bottom (opposite direction of the Y-axis).

Simplifying all verticals for offset f = 0
TR N I ST A N N T P T B

Classif.

[ o Jiol 111213 1415 ]

DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES
0,5

0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5

0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5
loJoflofloJoJlofloJoloflofJoJolol/ol]
I N T A Y Y I T Y A N

[ [ ] I T N T T A [ [afafafafafalfalafalfalafalal]
91144121 [100] 81 ] 64 ]49]36]25]16] o | 4 0 L4 1o 1162536496481 [100[121][144]
379 [ 310 291 274 259 246 235 226 219 214 0 214 219 226 235 246 259 274 291 310 354
326303 282 [EIEN 246 231 218 207 198 (XM 186 | 183 [REFN 183 | 186 [EEIM 198 207 218 231 246 282 303 326
300 256 237 220 205 192 JIEEM 172 165 160 160 165 172 [EEAM 192 205 220 237 256 300]325] 352 381
357 328 301[276]253]232 213 196 EEIMEITANERA 148 141 136133 133136 141 148 EZANITINEIN 196 213 232[253[ 276301 328 357
335 [ 279 254|231 [EARMEEN 174 159 146 135 126 119 114 [ 111 O 111|114 119 126 135 146 159 174 O 231 254 279 A 335
XN 315 286 259 234 190|171 154 JEEN 126 115 106 MEEM 94 [ 91 [RELM| o1 | 94 BEEM 106 115 126 WEEN 154[171] 190 234 259 286 315
FZEN 216 BEEN 172|153 136] 121 108 BEEM 88 81 76 76 81 88 [EEM 108 121 136]153] 172 [WEEN 216 [EZEN 268 297
BEEESN 252 225 200 o 105] 92 81 65 60 | 57 M 57 | 60 65 81 92 105 0 177 200 225 252
267 238 186 142 123 106 o1 [ 78 [FA 58 51 46 [N E0 46 51 58 NG 78 | 91 | 106 123 142 186 [FEEN 238 267
226 EERY 17+ EEN 130 111 o] 66 | 55| 46 39 34 0 34 39 46 [ 55 [ 66 AN 94 111 130 EEN 174 EEEN 226
245 216 189 164 141 EEIEEIN 84 69 45 | 36 9 4 HF o Hl 4 Ml 36 [ 45 69 84 HIIMMEDN 141 164 189 216 245
237 208 NEERNEEA 133 112 93 76 EMEE 28 [ 21 ] 16 16 | 21 | 28 EOGE 76 93 112 133 EEAEEN 208 237
202 175 150 [NEEM 106 87 70 55 [NEEM 22 10 6 10 22 ss 70 87 106 [NEEM 150 175 202 231
198 171 146 123 102ﬂ 66 51 38 27 18 6 18 27 38 51 66 ﬂloz 123 146 171 198%
225196169144 [121[100] 81 [ 64 [ 49 [ 36 [ 25 [ 16 | 9 | 4 | 1 IO 1 | 4 | 9 [16 [ 2536 ] 49 [ 64 | 81 [100] 121144169196 | 225
225196169 144 [121]100] 81 | 64 | 49 [ 36 [ 25 | 16 | 9 | 4 | 1| WO 1 | 4 | o [ 16| 25 | 36 | 49 | 64 | 81 | 100[ 121 144169 196 | 225
198 171146123 ] 102 66 | 51 | 38 | 27 | 18 6 18 [ 27 [ 38 ] 51 | 66 102123146171 [ 198
231 202 175 150 106 87 70 55 B 22 10 6 10 22 %M 55 70 87 106 150 175 202 231
237 208 EEHEEA 133 112 93 76 IGHEED 28 [ 21 ] 16 16 | 21 | 28 TGN 76 93 112 133 EHANEEN 208 237
245 216 189 164 141 84 69 6 45 36 9 4 21 0 21 4 9 36 45 69 84 141 164 189 216 245
226 [EEN 174 130 111 94 JEEMl 66 [ 55 ] 46 39 34 0 34 39 46 | 55| 66 |WEFM 94 111 130 174 [EEEN 226
267 238 AR 186 WIGEN 142 123 106| 91 [ 78 JNAN 58 s1 46 [ 46 51 58 WG| 78 | o1 | 106 123 142 WEEN 186 [EANN 238 267
| N 252 225 200 177 O 105] 92 81 65 60 | 57 [WM 57 | 60 65 81 92 [105 NP 177 200 225 252
N 297 263 [EZEN 216 WEEN 172 153] 136 121 108 JEEAM 88 81 76 76 81 88 [EEM 108 121 136] 153|172 [NEEN 216 [EZEN 268 297
ER 286 259 234 190 | 171 | 154 [EEN 126 115 106 MEEM 94 | 91 [RELM o1 | 94 BEEM 106 115 126 EEN 154 [171[ 190 234 259 286 315
279 254[ 231 DREIN 174 159 146 135 126 119 114111 O 111|114 119 126 135 146 159 174 NI O 231 254 279 IO 335
328 301 [276[253] 232 213 196 EEEMNEEANEEA 148 141 136|133 133|136 141 148 [IEARIEANEIN 196 213 232[253[276] 301 328 357
352[325[ 300 256 237 220 205 192 QAN 172 165 160 160 165 172 [EAM 192 205 220 237 256 300]325] 352 381
303 282 [EIEN 246 231 218 207 198 [NEIN 186 [ 183 183 | 186 [EEIN 198 207 218 231 246 [EIEN 282 303 326]351]378] 407
[EEEN 310 291 274 259 246 235 226 219 214 0 214 219 226 235 246 259 274 291 310 [EEIN 354 435
361 340 321 304 289 276 265 256 249 244 |[PLAWPEOMPPIN] 244 249 256 265 276 289 304 321 340 361 384 465

1. Paraboctys PS[x? + 2,x2%, x2]. All verticals of Paraboctys PS[2x? + 3x + 2,2x? +
x,2x% — x] in offset f = 0.

Figure
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See the composite generator [3,0,1] = [1,0,3] = Y[y] = 2y? + y. It is classified into two
sequences at OEIS:

A000384 Hexagonal numbers: a(n) = n*(2*n-1).

0,1, 6, 15,28, 45, 66, 91, 120, 153, 190, 231, 276, 325, 378, 435, 496, 561, 630, 703, 780,
861, 946, 1035, 1128, 1225, 1326, 1431, 1540, 1653, 1770, 1891, 2016, 2145, 2278, 2415,
2556, 2701, 2850, 3003, 3160, 3321, 3486, 3655, 3828, 4005, 4186, 4371, 4560

A014105 Second hexagonal numbers: a(n) = n*(2*n + 1).

0, 3, 10, 21, 36, 55, 78, 105, 136, 171, 210, 253, 300, 351, 406, 465, 528, 595, 666, 741, 820,
903, 990, 1081, 1176, 1275, 1378, 1485, 1596, 1711, 1830, 1953, 2080, 2211, 2346, 2485,
2628, 2775, 2926, 3081, 3240, 3403, 3570, 3741, 3916, 4095, 4278

New sequences of primes we find when adding Integers. For example, adding 1, turn the

paraboctys clockwise 90°, and we have on offset f = 0:
[Coumn 115 Toa s T2 ol o [ sl 7 1e sl al3l 2l 1ol i 121314 s lel7lsloliolinlizlizliclis]

Classif.  DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES DES
y°_ip 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5 0,5
\nnnnnnnnnnnnnn o lofJoloJoJofloJoJofloJoJofloJof]olol]ol]
I N T T T O A I A
IIIIIIIIII-IIIIIIIIIIIIII [ [a oo afafafafafafalafalal
226 [ 197 [170 145122 101 [ 82 1 65 ] 50 [ 37126 [ 17 [ 10 ] | 1o 17 [ 26 [ 37 ] 5065 [ 8210112201451 170][197][226
B EEN) 355 332 292 275 260 247 236 220 215 215 220 236 247 260 275 292 332 355 JERQ)
[ 14 EE 878 327 304 [EEEN 264 247 232 219 208 [EEN 192 187 [184] 183 187 192 [EEN 208 219 232 247 264 [PEEN 304 327 3791 ETB
- 382 [EEE 278 [EEEA 238 221 206 166 161 | 158 206 221 238 A 278 353 [EE
358 329 302 [ PEEN 214 169 158 [WEEN 142 134]133 58 169 214 [EEB A 302 329 358
336 280 [ PANN] 192 175 160 147 136 136 147 160 175 192 [PAl 255 [RELN 307 JEEH
316 287 260 235 212 [N 155 140 [WEEA 116 BEA 100 95 FEA 140 155|172 PERN 212 235 260 287 316
298 242 217 194 k&) 137 BPFN 100 QEEN 50 [EH 109 RPFY 137 e 194 217 242 298
282 253 226 201 178 WA 138|121 [106] 93 82 66 2N s2 93 [106] 121 138 [EEEA 178 201 226 253 282
268 [EEEN 212 187 164 BEEN 124 D] 92 [eR] 68 BED) 68 |k YA 124 BEEN 164 187 212 [EEEN 268
256 200 175 152 [EEN 112 95 EMIGANEINNEY s6 |67 [180 BERAN 152 175 200 256
246 217 190 165 142 121 102 85 70 57 37 | 46 | 57 70 85 102 121 142 165 190 217 246
238 209 134 BN 94 77 62 49 38 |7k 7 | 38 49 62 77 94 NEN 134 209 238
232 203 176 [N 128 [EKEA 88 32 [N 16 ] [ 16 JPED 32 88 128 [{FN 176 203 232
228 JEEEN 172 147 124 BOEN 8+ G 52 39 23 EREE EABEN 28 39 52 FA 84 BEEN 124 147
145 [ 122 [BIAN 82 [ 65 | 50 [N W2l 10 | | 10 [ 37 N 122 [ 145
145 [ 122 [NIOR] 82 [ 65 [ 50 [ERA 26 VAT 10 | [ 10 AT 26 | 50 | 65 [ 82 |RNO] 122 [ 145
147 e 84 A 52 | 39 [ 28 [MENEE 12 19 IR | 84 [RICER] 124 [ 147
232 203 176 G v sz ANIEAREN 32 WPEN 6 | [ 16 | o5 88 LA 128 BN 176 203 2
29 94 WNEN 134 209 238

238 209 EEANEA BEN 94 77 62 49 38 [PEH] 22 |
246 217 190 165 142 121 102 85 70 57 37 30 85 102 121 142 165 190 217 246

256 [EEEAl 200 175 152 [EEIM 112 80| 67 | 56 | 47
268 [EEEN 212 187 164 WEEN 124 BIEA o2 AT 63 R
282 253 226 201 178 WA 138f121[106] 93 82
298 [EIEN 242 217 194 EEEN 154 [REVA] 122 (NEEN os BEEM 82 77
316 287 260 235 212 [NENN 172] 155 140 [EEXA 116 [ELEA 100
336 PXN 255 PARN| 192 175 160 147 136
358 329 302 [P3 PEEY 214 169 158 [EEEN 142 134] 133
382 [EEE 278 [PEEAl 238 221 206 166 161 [ 158

408 [EVEN 352|327 304 [EEEN 264 247 232 219 208 [EEN 192 187 [184] 183 219 232 247 264 [EEEN 304 327352 |ERE) 408
EEN 355 332 [ERNN 292 275 260 247 236 [EREAl 220 215212 212 | 215 220 [EEEA 236 247 260 275 292 [EREN 332 355 [ER
BB 266] 437 410 385 362 341 322 305 290 [EHEA 266 [EEEA 250 245 [242 [PEAN] 242 245 250 [EEFAl 266 EEEA 290 305 322 341 362 385 410 437 [466]

Figure 1. PS[x% + 2,x%,x?] + 1 = PS[x? + 3,x% + 1,x2 + 1]

47 56 | 67 112 152 175 200 256
N 68 [ 124 QEEN 164 187 212 268
82 93 |106]121] 138 WEFAl 178 201 226 253 282
ZBRTN o BCLN 109 [EE 137 FEN 194 217 242 298
95 100 [EKFA 116 WEEA 140 155 [ 172 [NEAH] 212 235 260 287 316
211 X 280 JENEA 336
142 PEE] id| 302 329 358

257 B8 353 [EIH

—=[=]= —T==[=~
o~ o[ |w|n ~fwlafo|~]e

o|o|w|= s - 1 o o

bmbNNéH!HHE H H EHH!HbNme&N
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3.4 The C-Destroyer and C-Submarine interleaving parabolas with a
varying offset in PS[x + 2, x, x|

See the picture:
526 @7 28 20 30 31 32 33 34 35 36 37 38 39 0 el a3
| | | | | :24 :25 :26 27 :28 :29 1 32 i 139 :4.0/“4'1 1
-0---0 o - & - -6 o—- = /fe‘rf/—ef—f—f

18 19—120—"21 22 '23
S e S

T
\)-kelzﬁ/rn 18 19—

27 28
_6 R

39 140
o

-. 4}\9\‘\: O
| 5859 160—61 162 163164
-6---0 - -7 Hif\&i&”ﬁ”&f
Poe ? )

Figure 1. The combined C-Destroyers and C-Submarines vertical parabolas in column x = 0 of
the lattice-grid PS[x + 2, x, x].

19] 18 1 (2] ]iolo]sl7]6ls[4]3]2]110]1]2 [ 4] 5] 6|
Classif. ACC SUB ACC DES ACC SUB ACC 'DES ACC SUB ACC DES ACC SUB ACC 'DES ACC SUB ACC DES ACC SUB ACC ' DES ACC SUB ACC DES ACC SUB ACC | DES ACC SUB ACC DES ACC SUB ACC |DES ACC SuB
v s a7 a5 425 4 35 325 3 ars 25 225 2 125 1 o7 o5 oz N 125 15 17
5 -5 1 -1

f 4 -4 3 3 2 2 2 1
| a l2l2l2l2l2[2l2l272f2]2l2]2l2J2J2[2[2[2[2]
[ b | [19] 18 [ 16 ] [8 7 6] 3

375

[ 90 | [12[12] 616 [ 2]
860 825 810 777 762 731 687 672 645 630 605 590 567 JEEEN 531 516 497 482 465 407 392 381 315 300 297 282 [EEIMN 266 267
782 748 734 [EOEN 688 658 616 602 576 562 538 524 502 488 468 454 436 422 406 352 338 328 292 286 268 254 252 238 238 [EEEN 226 212 216 202
708 [[TZHN 662 618 589 576 549 536 511 498 475 441 428 EIEN 396 366 351 325 312 301 279 246 [EZAM 228 225 212 AN 198 WEEN 186 189 176 NEXMNIEN
2 26 314 300 276 264 254 242 234 222 216 204 200 188 186 174 174 162 164 152‘ 144 150 138

638 606 594 564 JEEFHN 524 512 486 474 450 438 416 404 384 372 354 [EEH
572 (IEZM 530 501 490 EEEN 452 427 416 393 382 361 350 [EENN 320 303 292 XA 266 253 220 [EIEH 200 [EEEN 177 166 [EEN 152 lEM 140 141 130 133 122 [EEA 116 123 112
2 2 1

510 480 470 442 432 396 372 362 340 330 300 282 [EEEH 256 246 210 162 [HEHA 146 142 112 102 102 100
452 423 414 387 378 [EEEN 344 321 312 291 282 [EIEM 254 237 228 213 204 [EEINID BEEA 128 123 114 111 102 [EOM 92 93 84 87

398 370 362 336 328 304 296 274 266 246 238 220 212 196 188 174 166 15 106 94 8 84 76 76 68 70 62 66 58
348 321 314 289 282 259 252 231 [EEZN 205 198 AN 174 159 152 121 114 69 62 54 55 JEEM 51 44 [ 42 | I 48
302 276 270 246 [EZI 218 212 192 186 MIFN 162 146 140 126 WELN 108 102 92 86 38 32 36

260 235 230 207 202 [EEM 176 EEA 152 135 130 115 EACANEEA 92 81 76 WEM 62

222 198 194 172 [EIEN 148 144 126 122 106 102 88
188 165 162 141 138 119 116 9 81 78 65
160 158 136 134 114 112 94 76 74 60 58 46
[EEN 132 KRN "o BIEEM o0 (73 72 56 [43 42 (31 30
110 110 90 90 72 72 56 56 42 42 30 30 20 20

[ o1 [ o2 Wee 74 [ 57 [ s JEEM 44 (LM 2 | 21 | 22 [RER 14}

65 54

58 62 46 50 22 26 105 126 130 148 152 172 176 198 202

55 60 45 50 36 32 36 42 I 115 [EW 135 140 A 162 186 207 212 235

XN 38 [ 48 | 54 62 66 98 114 126 [EEN 146 152 WIEN 174 192 198 218 [EEZN 246 252 276 282

55 62 M 68 69 76 86 91 159 166 AN 188 205 212 231 238 259 266 289 296 321 328

70 76 84 84 92 94 102 144 154 162 174 [EEN 196 204 220 228 246 254 274 282 304 312 336 344 370 378

| o [s3] 81 93 102 I 1 HEE 123 180 EIM 200 213 222 237 246 [EXEN 300 321 330 JEEEN 362 387 396 423 432

BTN 100 100 [EIN 102 112 106 116 112 122 [EGN 130 130 140 142 152 220 232 242 256 266 282 292 310 320 340 350 372 382 406 416 442 452 480 490
| T R 123 138 133 144 141 152 [KEN 162 WEEN 174 177 188 EEN 204 B 222 231 253 264 303 314 361 372 393 404 427 438 [ELEN 474 501
[El 146 158 150 162 [N 164 176 174 186 186 198 200 212 216 228 234 246 254 266 276 300 312 326 338 354 366 384 396 416 428 450 [EIFH 486 498 524 536 564

175 188 [HEEM 194 189 202 [HEEN 212 225 238 [EZIN 254 259 279 292 301 314 325 392 [EIEN 422 441 454 475 488 511 524 549 562 589 602 [GEIM 644 NN 688

67 716 748 762

450 468 482 502 516 538 HFM 576 590 616 630 658

222 216 230 226 I 238 252 252 266 268 282 286 300 [H 320 328 [EZEN 352 366 378
731 746 777 792 825 [EZI

260 [N 270 267 282 EXIN 296 297 312 315 330 335 350 357 372 381 396 407 422 435

512 531 546 567 582 605 620 645 660 687 JEEN

o9

igure 1. The combined C-Destroyers and C-Submarines parabolas in PS[x + 2, x, x] table.

CENTER
[ Even | 0dd | Even| Odd | Even| Odd |
KON © 6 3 2 1 0
EOIM 2 2 o o o0 o
|

1 2 1 2 3 4

Figure 1. The center of the combined C-Destroyers and C-Submarines parabolas in table
PS[x + 2,x,x].
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3.4.1 The row Y[—1] = X,[x]

The center of the row Y[—1] ={...,1,2,1,2,3,4, ... }.
The row Y[—1] is the result of the interlacing between two quadratics:

Y[-1] = X,[x = even| + X,[x = 0dd]
X,[x = Even] is based on sequence [1,1,3] =n? +n+ 1 = 4002061

x = Even = 2n

n= E
X\2 X x>+ 2x+4
X;[x = Even] = A000002000601 = [1,0,2,0,3,0] = (—) +-+l=—
2 2 4
A117950 \/_
AXXXXXX = {...,0,57,0,4-3,0,31,0,21,0,13,0,7,0,3,0,1,0,1,0,3,0,7,0,13 0,21,0,31,0,43
0,..}

and

X, [x = 0dd] is based on sequence [2,2,4] = n? + n+ 2 = A014206
x=0dd =2n—-1
x+1
2

x+1\* x+1
X;[x = 0dd] = Ao00104020006 = [2,0,2,0,4,0] = < ) +

2 2
_x2+2x+1+2x+2+8 X2 +4x+ 11

= = 2
2 4 0.25x“ + x + 2.75

= w =[2,1.75,2] = (\/_) L @f=0

AXXXXXX = {... ,74,0,58,0,44,0,32,0,22,0,14,0,8,0,4,0,2,0,2,0,4,0,8,0,14,0 22,0,32,0,44

n=

+2

)
X[ = Evon] < CH2X 4 _ 4117950
1 X = Lcven| = 4 = 4
x?+4x+11 A117619

Xl[_x] = Xl[—x = even] +X1[_x _ Odd]
Xi[—x] = x% 4+ (Bx —x(—1)*) + (7.5 — 3.5(—-1)%)

4
x?+3x+ 75— (x+3.5)(-1)*

Xi[-x] = 4
2x%>+6x+ 15— (2x + 7)(—1)*
A PR AR AR
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Classif.

DES

SUB

DES

Process table to produce the row Y[-1]

SUB

y_ip -0,5 -1 -0,5 -2 X1 =
f -1 -1 -1 -2 X1[Even]

X1Ever X110 :

[ a [ 1 | 025 | [ 1 ] 025 | X1[0dd]

[ b | 1 [ 05 | I

L e T AKX
241 64,75 0 242 74 74
211 57 57 212 65,75 0
183 49,75 0 184 58 58 [ 53 |
157 43 43 158 50,75 0
11 133 36,75 0 134 44 44
10 111 31 31 112 37,75 0
El o 25,75 0 92 32 32
El 21 21 74 26,75 0
57 16,75 0 58 22 22
43 13 13 44 17,75 0
31 9,75 0 32 14 14
21 7 7 22 10,75 0
13 4,75 0 14 8 8 [ 8 |
2 7 3 3 8 5,75 0
[ 3 1,75 0 4 4 4 [ 4]
0 1 1 1 2 2,75 0 [ 1 ]
Y[11] -1 1 0,75 0 2 2 2
-2 3 1 1 4 1,75 0 [ 1]
El 1,75 0 8 2 2
13 3 3 14 2,75 0
21 4,75 0 22 4 4 [ 4]
El 3 7 7 32 5,75 0
43 9,75 0 44 8 8 | 8 |
El 13 13 58 10,75 0
El 16,75 0 74 14 14
91 21 21 92 17,75 0
11 111 25,75 0 112 22 22
133 31 31 134 26,75 0
157 36,75 0 158 32 32
-14 EE 43 43 184 37,75 0
211 49,75 0 212 44 44

Figure 1. Sequence AXXXXXX is the row Y[—1] of the combined C-Destroyers and C-
Submarines parabolas in PS[x + 2, x, x]. Because of the change of offset that occurs when we
put the zeros, the direction of the final sequence is reversed.

The complete sequence in row Y[—1] with positive, zero, and negative indexes is:
AXXXXXX={...,212, 183, 184, 157, 158, 133, 134, 111, 112,91, 92, 73, 74, 57, 58, 43, 44,
31,32,21,22,13,14,7,8,3,4,1,2,1,2,3,4,7,8,13, 14, 21, 22, 31, 32, 43, 44, 57, 58, 73,
74,91,92, 111, 112, 133, 134, 157, 158, 183, 184, 211, 212, 241, 242, 273, ...}.

Obs.: (to create new sequences with Zeros between elements, and generalize the work of Sato
link http://vixra.org/pdf/1210.0025v7.pdf)
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3.4.2 The row Y[0] = X,[x]

The center of the row Y[0] = {...,2,2,0,0,0,0, ... }.
The row Y[0] is the result of the interlacing between two quadratics:
Y[0] = X,[x = even] + X,[x = 0dd]
X,[x = Even] is based on sequence [2,0,0] = n? —n = A002378 = n(n + 1)
x = Even = 2n

Tl:E
X,[x = Even] = A000002030708 = [2,0,0,0,0 ]—(x)2 X _xt o
2x—ven_oooooo_,0,,0,,0_2 ="
4005563 x2 — 12
= 025x% = 0.5x = —— =[0,-025,0] = —— @f =0

AXXXXXX ={...,0,42,0,30,0,20,0,12,0,6,0,2,0,0,0,0,0,2,0,6,0,12,0,20,0,30,0,42,0,56,0, ... }
and

X,[x = 0dd] is based on sequence [2,0,0] = n? —n = A002378
x=0dd =2n—-1

_x+ 1
"=y
x+1\¢ x+1
X,[x = 0dd] = A00002030708 = [0,2,0,0,0,0] = < > ) -
_xz+2x+1—2x—2_xz—1_025 5 025_A005563
- 4 Ty T U T e =Ty
xZ _ 12
=[0,-025,0] = ~——— @f =0
Axxxxxx = {...,56,0,42,0,30,0,20,0,12,0,6,0,2,0,0,0,0,0,2,0,6,0,12,0,20,0,30,0,42,0,56, ... }
x% —2x A005563
X,[—x = Even] = = 0.25x2 — 0.5x = —
x% -1 A005563
Xyl—x = 0dd] = —— = 0.25% — 0.25 = — —

X,[—x] = X,[—x = even] + X,[—x = 0dd]
x? — (x + x(=1)*) — (0.5 — 0.5(—=1)*)

XZ[_X] = 7
X,[—x] = x> —x—-05 —4(x +0.5)(—1)*

2x%2 —2x—1—(2x + 1)(—1)*

Xp[—x] =

8
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Process table to produce the row Y[0]

Classif. DES SUB DES SUB |
y_ip 0,5 1 o5 [N X2 =
B © RN T o T 0 1, .. Il aEen

(Even] [oddl +

[ a [ 1 [ 025 | [ 1 [ 025 | X2[0dd]
[ b [ a1 | 05 | | 1 | 0 |
Lo L0 0 A 0028 AXXXXXX]
210 0 210 56 56
14 182 42 42 182 48,75 0
BEl 56 35,75 0 156 42 42
B 3 30 30 132 35,75 0
Bl o 24,75 0 110 30 30
Bl o 20 20 90 24,75 0
EEl 2 15,75 0 72 20 20
Bl ¢ 12 12 56 15,75 0
42 8,75 0 42 12 12
HEl 30 6 6 30 8,75 0 6 |
20 3,75 0 20 6 6 6 |
12 2 2 12 3,75 0
6 0,75 0 6 2 2
2 2 0 0 2 0,75 0 o |
[ 0 -0,25 0 0 0 0 o |
0 0 0 0 0 -0,25 0 o |
-1 2 0,75 0 2 0 0 o |
-2 6 2 2 6 0,75 0
3 12 3,75 0 12 2 2
20 6 6 20 3,75 0 6 |
30 8,75 0 30 6 6 6 |
El « 12 12 42 8,75 0
56 15,75 0 56 12 12
El 20 20 72 15,75 0
El v 24,75 0 90 20 20
110 30 30 110 24,75 0
132 35,75 0 132 30 30
156 42 42 156 35,75 0
-13 kY 48,75 0 182 42 42
-14 [l 56 56 210 48,75 0 . 56|
240 63,75 0 240 56 56 - 56 |

Figure 1. Sequence A110660 is the row Y [0] of the combined C-Destroyers and C-Submarines
parabolas in PS[x + 2, x, x].

The complete sequence in row Y[0] with positive, zero, and negative indexes is:
A110660 =
{...,56,42,42,30,30,20,20,12,12,6,6,2,2,0,0,0,0,2,2,6,6,12,12,20,20,30,30,42,42,56,56, ... }.
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3.4.3 The row Y[1] = X3[x]

The center of the row Y[1] = {...,7,6,3,2,1,0, ... }.
The row Y[1] is the result of the interlacing between two quadratics:
Y[1] = X3[x = even] + X3[x = 0dd]
X;[x = Even] is based on sequence [7,3,1] = n? — 3n + 3 = 4002061
x = Even = 2n

n= E
x\2 3x x%—6x+ 12
X3[x = Even] = A000002000601 = [7,0,3,0,1,0] = (—) -——+4+3=—
2 2 4
A117950 x? — (V/3)?
=0.25x2 —15x +3 = — =[1,0.75,1] = % @f =0
AXXXXXX ={...,0,31,0,21,0,13,0,7,0,3,0,1,0,1,0,3,0,7,0,13,0,21,0,31,0,43,0,57,0,73,0, ... }

and
X;[x = 0dd] is based on sequence [6,2,0] = n? —3n+ 2 = A002378
x=0dd =2n—-1

_x+1
"=
x+1\> 3x+3
X3[x=0dd]EA000020307085[o,6,o,2,o,0]:< - ) ~E 4
x2+2x+1—-6x—6+8 x2—4x+3
= = = 0.25x%2 — x + 0.75
4 4

A005563 X2 — 12
=—,—=[0-0250] =~ — @f =0

AXXXXXX ={...,42,0,30,0,20,0,12,0,6,0,2,0,0,0,0,0,2,0,6,0,12,0,20,0,30,0,42,0,56,0,72, ... }
x*—6x+8 A117950

X =F = =
3[x ven| 2 2
x> —4x—1 A005563

X3[x] = X3[x = even] + X3[x = 0dd]
x% — (5x + x(=1)*) — (4.5 + 3.5(—=1)%)
4
x? —5x —4.5— (x +3.5)(—1)*

X3[x] =

X3[x] =

4
2x2 —10x — 9 — 2x + 7)(—1)*

X3[—x] = 3
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Classif.
y-ip

-

|
X3(Even]

[ a |
[ b [ 3 [ a5 |

DES
1,5
1

Process table to produce the row Y[1]

|
[A002378] x3(0dd] | **10%%!

X3 =
X3[Even]
+
X3[0dd]

0

.75

183 36,75 182 42 42

157 31 31 156 35,75 0

133 25,75 0 132 30 30

1m 21 21 110 24,75 0

91 16,75 0 90 20 20 20 |

73 13 13 72 15,75 0

57 9,75 0 56 12 12

43 7 7 42 8,75 0

31 4,75 0 30 6 6 6|

21 3 3 20 3,75 0

13 1,75 0 12 2 2

7 1 1 6 0,75 0 1

3 0,75 0 2 0 0 [ 0 |

1 1 1 0 -0,25 0 I

1 1,75 0 0 0 0 0 |

3 3 3 2 0,75 0

7 4,75 0 6 2 2

13 7 7 12 3,75 0

21 9,75 0 20 6 6 6|

31 13 13 30 8,75 0

43 16,75 0 42 12 12

57 21 21 56 15,75 0
73 25,75 0 72 20 20
El 31 31 90 24,75 0
El 36,75 0 110 30 30
133 43 43 132 35,75 0
157 49,75 0 156 42 42
-12 KK 57 57 182 48,75 0
211 64,75 0 210 56 56 56|
14 [Py 73 73 240 63,75 0
273 81,75 0 272 72 72

Figure 1. Sequence A130404 is the row Y[1] of the combined C-Destroyers and C-Submarines
parabolas in PS[x + 2, x, x].

The complete sequence in row Y [1] with positive, zero, and negative indexes is: \A130404\=
{...,42,31,30,21,20,13,12,7,6,3,2,1,0,1,0,3,2,7,6,13,12,21,20,31,30,43,42,57,56,73,72, ... }.

A130404 Numbers n such that floor(n/2) is a positive triangular number. Partial sums of
A093178.0,1,2,3,6,7,12,13, 20, 21, 30, 31, 42, 43, 56, 57, 72,73, 90,91, 110, 111, 132, 133,
156, 157, 182, 183, 210, 211, 240, 241, 272, 273, 306, 307, 342, 343, 380, 381, 420, 421, 462,
463, 506, 507, 552, 553, 600, 601, 650, 651, 702, 703, 756, 757, 812, 813

A093178 If nis even then 1, otherwisen. 1,1,1,3,1,5,1,7,1,9,1, 11,1, 13,1, 15,1, 17, 1,
19,1,21,1,23,1,25,1,27,1,29,1,31,1,33,1,35,1,37, 1,39, 1,41, 1,43, 1,45, 1,47, 1, 49,
1,51,1,53,1,55,1,57,1,59, 1,61, 1,63, 1,65,1,67, 1,69, 1,71, 1,73, 1,75, 1,77, 1, 79, 1,
81,1,83,1,85
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4 Study of the sequences produced by the elements in D

4.1 The D-Submar

See the picture:
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Figure 1. Paraboctys PS|[x, x, x]. Initial vertical lines to form any specific paraboctys.
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Thus, we can imagine the construction of the PS[x + 1, x, x + 1] starting from infinite vertical
lines of the same value according to the table above.

Then, we mold these vertical lines according to the D-Submarine parabolas of the form x =
—y? + ¢, where Y[y] = ¢ with offset Zero.

This procedure produces the specific paraboctys PS[x + 1,x,x + 1]:
nn------ng-----n-nnm

x_ip -10
x_focus -9,8 -88 -7,8 6,8 -58 -48 -3,8 -2,8 -1,8 -0,8 0,25 1,25 2,25 3,25 4,25 5,25 6,25 7,25 8,25 9,25 10,3
LR 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
A 40 36 32 28 24 20 16 12 8 4 IR 4+ 8 -12 16 -20 -24 28 -32 -36 -40
|v/Al 6,32 6 566 529 4,9 4,47 4 3,46 2,83 2 |[WMI###E B HEHE R SRS SHEE BERE BHEE B A
C.G. 0,32l o066 029 0,9 0,47 M 0,46 0,83 NI #### #### #### HEEE HHHH HHEE BHBE . BHHE SHHH
Rootl 3,16 3 2,83 2,65 2,45 2,24 2 1,73 1,41 1 O #### BHEH BREH BERE BRA BRRE R BRRE SR SRR
Roo2  [-3,2| -3 [-2,8]-2,6/ 2,4 -2,2 [ -2 |I-1,7 [-1,4] -1 O
Root2-Rootl -6,3 -6 -5,7 -5,3 -4,9 -4,5 -4 -3,5 -2,8 -2 0 #### #HHS HHEE BHEE SRR BERE SRR BRRE BHEE BRRE
Classif. ~SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB
y-ip nnnnnnnnnnnnnnnnnnnnn
[ 0 | o[ o[ o] 0] | 0o [ o[ o[ o[ o]
-nnnl-l-nnl-nnnl-nnnnl-nnnl-
[ b [ ofJoJofJoJoJof[oJof[oJoJof[oJoJof[oJo[oJo]of[o]o |
| ¢ [d0[-9[ 8] 7] 6[5]4]3] |1 lol 1 J2[3]a4]s5[6]7]8([9[10]
BEl 25 216 217 218 219 220 221 222 225 226 [PPEA 228 [PFEN 230 231 232 234 235
Bl 186 187 188 189 190 HEIN 192 194 BEEN 196 WEX 198 [EEN 200 201 202 203 204 205 206
159 160 161 162 EEEN 164 165 166 BIFAREEN 169 170 171 172 [EEEN 174 175 176 177 178 [EEEN
134 135 136 EFA 138 EEN 140 141 142 BEEN 144 145 146 147 148 FEEN 150 M 152 153 154
111 112 [EEEN 114 115 116 117 118 119 121 122 123 124 125 126 [EE 128 129 130 [EEEN
BEEEDE o1 92 93 94 95 96 98 [EEN 100 EIJN 102 WEEN 104 105 106 [EEEA 108 m
ERVREEAEEN 74 75 76 77 78 BEEEMEEIN 81 82 84 85 86 87 88 EENIEN o

Bl ¢ 55 57 58 60 HEM 62 64 65 66 WFM 68 69 70 EHNEFANE 74
Bl 0 40 44 45 46 49 50 51 52 54 55 57 58
Il s 27 28 32 33 34 36 38 39 40 ZEMl 44 45 46
Bl 16 BN 19 | 20 PN 25 27 28 32 33 34

\-n-n 9 10 \- 14 BBl 16 13 HEN 21 22 IEEHIEZE 25 26
il o B -- nn-n - A III 14 16 18 m

EEEN + EENERERE 0 0 EESENEEN ' 16 18

BN ° o EINEFEREE '+ BEN 16 s HENEECE 21 22 IEENZE 25 26
16 EA 18 BEN 21 22 EEMIPZN 25 26 27 28 [EEM EIl 32 33 34 EEN
27 28 32 33 34 36 3839 40 44 45
39 40 ZEM 44 45 46 IEFMNZEN 49 50 51 52 s4 55 M 57 58
Bl s+ ss 57 58 EEM 60 HEM 62 64 65 66 I 68 69 70 NANEZENEN 74
EREEAANEN 74 75 76 77 78 BEEMEEDN 81 82 84 85 86 87 88 IECHEENE o1
0 92 93 94 95 96 98 EEN 100 WIIN 102 EREN 104 105 106 I 108 BEENEERE
111 112 [EEEN 114 115 116 117 118 119 BRI 121 122 123 124 125 126 [EE 128 129 130 EEEM
134 135 136 [NEFA 138 [MEEN 140 141 142 [BEEN 144 145 146 147 148 HEEN 150 M 152 153 154
IBEN 159 160 161 162 BIEN 164 165 166 EIFAREEN 169 170 171 172 [WEEN 174 175 176 177 178 HEEN
186 187 188 189 190 HEIM 192 HEEN 194 BEEN 196 MEFA 198 [EEEN 200 201 202 203 204 205 206
BEl 215 216 217 218 219 220 221 222 225 226 228 230 231 232 234 235

Figure 1. The specific paraboctys PS[x + 1, x, x + 1] in table format. The central column is the
Square numbers sequence A000290 = [1,0,1] = Y[y] = y?2. Only line Y[0] remains unshifted
from PS[x, x,x] to PS[x + 2,x, x].
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4.2 The D-Destroyer parabolas with variable offset on a vertical of PS[x +
1,x,x+ 1]

See the picture:
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Figure 1. The D-Destroyer parabolas in column x = 0 of the lattice-grid PS[x + 1,x,x + 1].
They have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = —y? + 0dd * y — Oblong. In terms of the offset

value: x = —y2 + 2f + Dy — (f2 + f).

Each parabola x = —y% + (2f + 1)y — (f? + f) in lattice-grid PS[x + 1,x,x + 1] will
produce a quadratic sequence of the form Y[y] = ay? + by + c. Now, to determine the
coefficients a, b, c, for each sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y[1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the D-Destroyer parabolas with a variable offset in a vertical
of lattice-grid PS[x + 1, x,x + 1].

As we have D-Destroyer parabolas, we can understand each sequence as being made of one
element of the vertical column x = —2 to assume the @Y[—1] elements position and two
elements of the vertical column x = 0 to assume the @Y [0] and @Y[1] elements positions.
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Consequently,
1. The elements on the vertical column x = —2 with offset f = —1 of the current paraboctys
PS[x + 1,x,x + 1] is:
A008865 = [-2,—-1,2] = @Y[-1] =x*+2x—1
2. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys
PS[x + 1,x,x + 1] is:
A000290 = [1,0,1] = @Y[0] = x?
3. The elements on the vertical column x = 0 with offset f = 1 of the current paraboctys
PS[x + 1,x,x + 1] is:
A000290 = [4,1,0] = @Y[1] =x? —2x + 1
Finally, we create the new paraboctys PS[@Y[—1], @Y[0], @Y[1]] = PS[x? + 2x —

1,x2%,x% — 2x + 1]:

| Column > 15 [ 14 |13 [ 1211 ] 10 - [ o J1o[ni[i2[13[14][15]
[ 0 [ o [ o [0 [0 oo 0o o]0 0] ﬂlﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ“ﬂ
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Figure 1. Paraboctys PS[x? + 2x — 1,x%,x% — 2x + 1]. The verticals represent the sequences
produced by D-Destroyer parabolas with variable offset on the vertical x = 0 of the PS[x +
1,x,x + 1]. The D-Destroyer parabolas with positive offset produce the vertical sequences on
the left side of this table. The D-Destroyer parabolas with negative offset produce the vertical
sequences on the right side of this table.
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If we turn the paraboctys clockwise 90° around the central point (0,0), we get:

:
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Figure 1. Paraboctys PS[3x + 1, x, —x + 1]. The vertical ones here are the horizontal ones of
PS[x? + 2x — 1,x%,x? — 2x + 1]. Because of the clockwise 90° rotation the indexes y
increase from top to bottom (opposite direction of the Y-axis).

Slmphfylng all verticals for offset f = 0:
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Figure 1. Paraboctys PS[—x? + x + 1,—x2 + x, —x? + x + 1]. All verticals of Paraboctys

PS[3x + 1,x,—x + 1] in offset f = 0 which is PS[—x? + 2, —x?

2] rotated 90° from item

2.3 above due D-Submarine verticals on PS[x + 2, x, x]. As expected, this means that we will
not find different sequences of prime numbers between PS[x + 2, x, x] and PS[x + 1, x,x + 1].
We would hardly notice this property if we didn't use offset f=0 as a reference.
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4.3 The D-Submarine parabolas with a varying offset in PS[x + 1, x, x + 1]

See the picture:
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Figure 1. The D-Submarine parabolas in column x = 0 of the lattice-grid PS[x + 1, x,x + 1].

They have offset following the staircase function with the step of a unit. These parabolas have

equations in the XY plane of the form x = —y? 4+ Even * y — Square. In terms of the offset
value x = —y? + 2fy — f2.

Each parabola x = —y% + 2fy — f2 in lattice-grid PS[x + 1,x,x + 1] will produce a
quadratic sequence of the form Y[y] = ay? + by + c¢. Now, to determine the coefficients a, b, c,
for each sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y [1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the D-Submarine parabolas with a variable offset in a vertical
of lattice-grid PS[x + 1, x,x + 1].

As we have D-Submarine parabolas, we can understand each sequence as being made of two
elements of the vertical column x = —1 to assume the @Y[—1] and @Y[1] elements position
and one element of the vertical column x = 0 to assume the @Y [0] elements positions.
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Consequently,
7. The elements on the vertical column x = —1 with offset f = —1 of the current paraboctys
PS[x + 1,x,x + 1] is:
A005563 = [—1,0,3] = @Y[-1] = x? + 2x
8. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys
PS[x + 1,x,x + 1] is:

A000290 = [1,0,1] = @Y[0] = x?
9. The elements on the vertical column x = —1 with offset f = 1 of the current paraboctys
PS[x + 1,x,x + 1] is:
A005563 = [3,0,—1] = @Y[1] = x? — 2x

Finally, we create the new paraboctys PS[x? + 2x, x2, x? — 2x]:
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Figure 1. Paraboctys PS[x? + 2x,x?%, x? — 2x]. The verticals represent the sequences produced

by D-Submarine parabolas with variable offset on the vertical x = 0 of the PS[x + 1,x,x + 1].

The D-Submarine parabolas with positive offset produce the vertical sequences on the left side

of this table. The D-Submarine parabolas with negative offset produce the vertical sequences on
the right side of this table.
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If we turn the paraboctys clockwise 90° around the central point (0,0), we get:
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Figure 1. Paraboctys PS[2x + 1,0, —2x + 1]. The vertical ones here are the horizontal ones of
PS[x? + 2x,x?,x? — 2x]. Because of the clockwise 90° rotation the indexes y increase from
top to bottom (opposite direction of the Y-axis). This paraboctys is similar to the multiplication
table, but all sums in rows doubled. The multiplication table is PS[x, 0, —x]. The squares as the
central column are the same in both.

52



Simplifying all verticals for offset f = 0:
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Figure 1. Paraboctys PS[—x? + 1, —x?
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—x?2 + 1]. All verticals of Paraboctys PS[2x +

1,0, —2x + 1] in offset f = 0.
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4.4 The D-Destroyer and D-Submarine interleaving parabolas with a
varying offset in PS[x + 1,x,x + 1]
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Figure 1. The combined D-Destroyers and D-Submarines parabolas in column x = 0 of the
lattice-grid PS[x + 1, x, x + 1]. They have offset following the staircase function with the step
of a unit.
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Figure 1. The combined D-Destroyers and D-Submarines parabolas in PS[x + 1, x, x + 1].

CENTER

Figure 1. The center of the combined D-Destroyers and D-Submarines parabolas in table
PS[x+ 1,x,x + 1].
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4.4.1 The row Y[—1] = X_[x]

The center of the row Y[—-1] ={...,—1,-2,0,-1,3,2,...}.
The row Y[—1] is the result of the interlacing between two quadratics:
Y[-1] = X,[x = even| + X,[x = 0dd]
X,[x = Even] is based on sequence [—1,0,3] = n? + 2n = A005563
x = Even = 2n

n= E
X\ 2 x? + 4x

X;[x = Even] = Ao00005050603 = [-1,0,0,0,3,0] = (E) +x = = 0.25x% + x

_A028347 e s o X2 er g

= 4 = . ) 1] . - 22 f -
AXXXXXX
={..,0,63,0,48,0,35,0, 24,0, 15,0,8,0,3,0,0,0,-1,0,0,0,3,0,8,0, 15,0, 24,0, 35,0, ... }

and

X,[x = 0dd] is based on sequence [-2,—1,2] =n? + 2n — 1 = A008865
x=0dd =2n—-1

_x+1
"=

x+1\2 2(x+1
)+( ) 4

X;[x = 0dd] = Ao00008080605 = [-2,0,—1,0,2,0] = < > 5

_x2+2x+1+4x+4—4_x2+6x+1
B 4 B 4

_ A028884 x* — (V8)°
2

= 0.25x% + 1.5x + 0.25

=—, —=1[-175,-2,-175] = ——@f =0

AXXXXXX
={..,79,0,62,0,47,0,34,0,23,0,14,0,7,0,2,0,-1,0,—-2,0,-1,0,2,0,7,0,14,0, 23,0, 34, ... }
x* +4x _ A028347

X;[—x = Even] = 2 = 2
x*+6x+1 A028884

X, [—x] = X;[—x = even| + X,[—x = 0dd]
x% 4+ (5x — x(—1)*) + (0.5 — 0.5(—1)*)

Xi[—x] =

4

x?+5x+ 0.5 — (x + 0.5)(—1)*
4

2x2+10x +1 — (2x + 1)(—1)*

Xi[-x] =

Xi[—x] = 3
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Process table to produce the row Y[-1]

Classif. SuB suB | SuB SuB |
y_ip -1 2 } -1 -3 } X1 =
f -1 -2 -1 -3 X1[Even]
2005563 X1Even) xodd :
[ a | 1 ] 02 | 1 [ 025 | X1[0dd]
[ b | 2 | 1 ] [ 2 [ 15 ]
L e 0 0 oo 008 AooR]
15 0 254 79 79
N 224 63 63 223 70,25 0
195 55,25 0 194 62 62
168 48 48 167 54,25 0
[ 11 PE 41,25 0 142 47 47
Bl 20 35 35 119 40,25 0
El 29,25 0 98 34 34
Bl s 24 24 79 28,25 0
63 19,25 0 62 23 23
Il 4 15 15 47 18,25 0 [ 15 |
35 11,25 0 34 14 14
24 8 8 23 10,25 0 [ 8 |
15 5,25 0 14 7 7
8 3 3 7 4,25 0
1 3 1,25 0 2 2 2
Yol| © 0 0 0 -1 0,25 0 [ 0 |
Y[-1]] -1 1 -0,75 0 -2 -1 -1 [ 1 ]
0 -1 -1 -1 1,75 0 [ 1 ]
3 0,75 0 2 -2 -2
8 0 0 7 1,75 0 | 0 |
15 1,25 0 14 -1 -1 e
El v 3 3 23 0,25 0
35 5,25 0 34 2 2
El 4 8 8 47 4,25 0 [ 3 |
El - 11,25 0 62 7 7
80 15 15 79 10,25 0 [ 15 |
99 19,25 0 98 14 14
120 24 24 119 18,25 0
143 29,25 0 142 23 23
168 35 35 167 28,25 0
195 41,25 0 194 34 34

Figure 1. Sequence Axxxxxx is the row Y[—1] of the combined D-Destroyers and D-
Submarines parabolas in PS[x + 1, x, x + 1]. Because of the interlacing, the direction of the
final sequence is reversed.

The row Y[-1] Axxxxxx is the Interleaving of A008865 (Square minus Two) numbers and
A005563 (Square minus one) numbers. {..., 195, 194, 168, 167, 143, 142, 120, 119, 99, 98, 80,
79, 63, 62, 48, 47, 35, 34, 24, 23,15, 14,8, 7,3,2,0,-1,-1,-2,0, -1, 3,2, 8, 7, 15, 14, 24, 23,
35, 34,48, 47, 63, 62, 80, 79, 99, 98, 120, 119, 143, 142, 168, 167, 195, 194, 224, 223, 255, 254,

..}
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4.4.2 The row Y[0] = X, [x]

The center of the row Y[0] = {...,1,1,0,0,1,1, ... }.
The row Y[0] is the result of the interlacing between two quadratics:
Y[0] = X,[x = even] + X,[x = 0dd]
X,[x = Even] is based on sequence [1,0,1] = n? = 4000290 = n(n + 0)

x = Even = 2n
n= E

x\2  x? A000290

X,[x = Even] = A000000020900 = [1,0,0,0,1,0] = (E) —_—

xZ
=[0.25,0,0.25] = 75 @f =0
AXXXXXX ={...,0,49,0,36,0,25,0,16,0,9,0,4,0,1,0,0,0,1,0,4,0,9,0,16,0,25,0,36,0,49,0, ... }
and
X,[x = 0dd] is based on sequence [1,0,1] = n? = 4000290 = n(n + 0)
x=0dd =2n—-1

_x+ 1
T
x+ 1\ x*+4+2x+1
X,[x = 0dd] = A00000020900 = [0,1,0,0,0,1] = < > ) = 2
A000290 x?
= 0.25x% + 0.5x + 0.25 = —7 = [0.25,0,0.25] = 52 @f =0
AXXXXXX ={...,64,0,49,0,36,0,25,0,16,0,9,0,4,0,1,0,0,0,1,0,4,0,9,0,16,0,25,0,36,0,49, ... }
X[ _ Even] = x? __A000290
2[—x = Even] = - = 2
x>+2x+1 A000290

X,[—x] = X,[—x = even] + X,[—x = 0dd]
x%+ (x — x(—1)*) + (0.5 — 0.5(—1)%)

XZ[_X] = .
X,[—x] = x2+x+0.5 —4(x +0.5)(—1)*

2x%2+2x+1—(2x+ 1)(—1)*

Xp[—x] =

8
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Process table to produce the row Y[0]

Classif. SUB SuB | SUB SUB

ACHN 0 | 0 | B X2 =

N 0 [ o (... @ 0 RN, Qe
+

[ a [ 1 [ 025 | | 1 | 025 | X2[0dd]
[ b [ o [ o | [ 0 | o5 |

64

L 0 0 Ao A008794
225 56,25 0 225 64 64

IH

4 196 49 49 196 56,25 0 49
BEl 169 42,25 0 169 49 49
144 36 36 144 42,25 0
121 30,25 0 121 36 36

10 100 25 25 100 30,25 0
El o 20,25 0 81 25 25
BEl s 16 16 64 20,25 0 16|
49 12,25 0 49 16 16 16|
Kl 9 9 36 12,25 0 9|
25 6,25 0 25 9 9 9]
16 4 4 16 6,25 0 4
9 2,25 0 9 4 4 4]

2 4 1 1 4 2,25 0 1]

1 1 0,25 0 1 1 1 I

0 0 0 0 0 0,25 0 0 |

-1 1 0,25 0 1 0 0 0|

2 4 1 1 4 0,25 0 1]
9 2,25 0 9 1 1 1
EN s 4 4 16 2,25 0 4
Bl 6,25 0 25 4 4 4]
El 3¢ 9 9 36 6,25 0 9|
49 12,25 0 49 9 9 9|
El - 16 16 64 12,25 0 16|
81 20,25 0 81 16 16 16|
BB 100 25 25 100 20,25 0
121 30,25 0 121 25 25
144 36 36 144 30,25 0

-13 169 42,25 0 169 36 36
196 49 49 196 42,25 0
225 56,25 0 225 49 49

Figure 1. Sequence A008794 is the row Y[0] of the combined D-Destroyers and D-Submarines
parabolas in PS[x + 1,x,x + 1].

The row Y[0] is the A008794 Squares repeated; a(n) = floor(n/2)*2. {..., 225, 225, 196, 196,
169, 169, 144, 144, 121, 121, 100, 100, 81, 81, 64, 64, 49, 49, 36, 36, 25, 25,16, 16,9, 9, 4, 4,
1,1,0,0,1,1,4,4,9,9, 16, 16, 25, 25, 36, 36, 49, 49, 64, 64, 81, 81, 100, 100, 121, 121, 144,
144, 169, 169, 196, 196, 225, 225, ...}.
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4.4.3 The row Y[1] = X3[x]

The center of the row Y[1] = {...,3,4,0,1,—1,0, ... }.
The row Y[1] is the result of the interlacing between two quadratics:
Y[1] = X3[x = even] + X3[x = 0dd]
X;[x = Even] is based on sequence [3,0, —1] = n? — 2n = 4005563 = n(n — 2)
x = Even = 2n

Tl:E

= 0.25x% — x

X\ 2 x? —4x
X3[x = Even] = A000005050603 = [3,0,0,0,—1,0] = (E) —x = 2

_ 4028347 _ o, 075]_x2—22
T g TR TR T

@f =0
AXXXXXX
={...,0,35,0,24,0,15,0,8,0,3,0,0,0,-1,0,0,0,3,0,8,0,15,0, 24,0, 35,0,48,0,63,0, ... }
and
X;[x = 0dd] is based on sequence [4,1,0] = n? —2n+ 1 = A000290
x=0dd =2n—-1

_x+ 1
"=y
x + 1)\2
X3[x = 0dd] = A000000020900 = [0,4,0,1,0,0] = < ) —-x—1+1
X2 +2x+1—4x x?-2x+1 A000290
= 2 = 2 = 0.25x% — 0.5x + 0.25 = —

2
= [0.25,0,0.25] = >; @f =0
AXXXXXX
= {...,49,0,36,0,25,0,16,0,9,0,4,0,1,0,0,0,1,0,4,0,9,0,16,0, 25,0, 36, 0,49, 0, 64, ...}
X2 —4x  A028347

X3[—x = Even] = = 2
x?—2x+1 A000290

X3[—x] = X3[—x = even] + X3[—x = 0dd]
x? — (Bx —x(—1)*) + (0.5 - 0.5(—1)%)
4
x?—=3x+ 0.5+ (x — 0.5)(—-1)*

X3[_x] =

X3[x] =

4
2x%2 —6x+ 1+ (2x — 1)(—1)*

X3[—x] = 3
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Process table to produce the row Y[1]

SUB | SuB SUB |
1 1| X3 =

Classif. SUB
y_ip 1 2 \

f L 2 et L L o [ GEver
| A005563 | X3[Even] |  A000290] X3[0dd] | +
| 1 | 025 | X3[0dd]
[ b | 2 | 1 |

[ e 0 0 Ao 025 AKX
[ 15 [REH 41,25 0 196 49 49
[ 14 35 35 169 42,25 0
BB 4 29,25 0 144 36 36
B 20 24 24 121 30,25 0
Bl 19,25 0 100 25 25
Bl 3o 15 15 81 20,25 0 15|
El - 11,25 0 64 16 16 16|
El 4 8 8 49 12,25 0 8 |
| 7 BER 5,25 0 36 9 9 9|
Bl - 3 3 25 6,25 0
B 1,25 0 16 4 4
EN s 0 0 9 2,25 0 | o |
Bl -0,75 0 4 1 1 1]
| 0 -1 -1 1 0,25 0 a1
-1 -0,75 0 0 0 0 0|
0 0 0 1 0,25 0 0 |
3 1,25 0 4 1 1 1]
8 3 3 9 2,25 0
15 5,25 0 16 4 4 4
24 8 8 25 6,25 0 8|
35 11,25 0 36 9 9 9]
48 15 15 49 12,25 0 15|
EBA - 19,25 0 64 16 16 16|
El 3o 24 24 81 20,25 0
El 29,25 0 100 25 25
B 20 35 35 121 30,25 0
Bl 4 41,25 0 144 36 36
BEl 68 48 48 169 42,25 0
BEE 19 55,25 0 196 49 49
| -14 [P 63 63 225 56,25 0
[ -15 S 71,25 0 256 64 64

Figure 1. Sequence A135276 and \A 131805\ is the row Y[1] of the combined D-Destroyers and
D-Submarines parabolas in PS[x + 1,x,x + 1].

The row Y[1] is the Interleaving of A000290 Square numbers and A005563 (Square minus one)
numbers. Y[1] =\A131805\+A4135276 ={..., UeRRVAIRPPLZRPPERE AR CIRN G RN AR R
144, 120, 121, 99, 100, 80, 81, 63, 64, 48, 49, 35, 36, 24, 25, 15,16, 8,9,3,4,0, 1, -1, 0,
4, 8,9, 15, 16, 24, 25, 35, 36, 48, 49, 63, 64, 80, 81, 99, 100, 120, 121, 143, 144, 168, 169, 195,
196, 224, 225, 255, 256, 288, 289, 323, 324, 360, 361, 399, 400, 440, 441, 483, 484, 528, 529,
575, 576, 624, 625, 675, 676, 728, 729, 783, 784, 840, 841, 899, 900, 960, 96 | NS

A131805 Row sums of triangular array T: T(j,k) = -(k+1)/2 for odd k, T(j,k) = 0 for k = 0, T(j.k)
= j+1-k/2 foreven k> 0; 0 <=k <=j.

{0,-1,1,0,4,3,9,8, 16, 15, 25, 24, 36, 35, 49, 48, 64, 63, 81, 80, 100, 99, 121, 120, ...}.
Interleaving of A000290 and A067998 (starting at second term).

First differences are -1, 2, -1, 4, -1, 6, -1, 8, -1, 10, ...: a(n+1) - a(n)=(-1)"(n+1)*A124625(n+2).
The main diagonal of T is in A001057, antidiagonal sums are in A131804.

First seven rows of T are

[0],

[0,-1],

[0,-1,2],

[0,-1,3,-2],

[0,-1,4,-2,3],
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[ 07 _19 59 -29 49 _3 ]7
[ 07 _19 69 -29 55 _37 4 ]
A135276 a(0)=0, a(1)=1; for n>1, a(n) = a(n-1) + n*0 if n odd, a(n) = a(n-1) + n"*1 if n is even.

{0,1,3,4,8,9, 15, 16, 24, 25, 35, 36, 48, 49, 63, 64, 80, 81, 99, 100, 120, 121, 143, 144, ...}.
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S5 Study of the sequences produced by the elements in C
parabolic formation in the PS[x + 1, x, x + 1]

5.1 The C-Submarine parabolas with offset Zero in PS[x + 1,x,x + 1]

See the picture:

132 133 134 135 136 137 .38 139 140 141 142 43 144 45 146 147 48 [49 50 51 152 (53 .54 |55 156 .57 58 59 160 61 162 163 164 165 166
©--0C--0C--0--0--6---0--0--0--0--0--8--0---0---0---0---0-- C-0--0--0--0---0---0--0--0--0--0--0 -

¢--0--0 -0 8 -6 -0 -0 -0 -0 o -

O A A A A A A A A S A A AR G S A AR A R S S A A (R A S (R A AR (R S AR
119 120 21 122 123 124 25 126 27 128 129 (30 (31 32 33 34 |35 |36 37 |38 39 140 |41 |42 143 |44 45 |46 |47 |48 149 |50 51 .52 |53

B S S ST ST S SN S - SN M T SR JAC S S ST M SR Y S SR S A S S A R P S S S S
AR AE A G A A A R A A S S A AR R R
R T O O S P H O T T | [
8 49 10 11 M2 13 14 a5 16 117 (18 19 120 21 22 23 24 [25 26 27 28 220 30 31 32 33 (34 35 136 37 38 39 40 41 42
B -G O-E -G-GO -G+ - O -0 -0 - -6 -G-GO --6 -6 ,w,”é”g'” - 6 ér -6---6- — =
R R AR R A R R A R SR A
1o 12 4 s 6 7 8 9 10 11 12 a3 14 15 e ‘17 18 19 20 21 122 23 laa— Mnsa.——.
R #"é” R T . R Y S L S S —— I gL ge e g5
Lo T A A
g .7 g 1 3 2 |

-5 ! 2 3 4 s 6 7 8
R R LA S SR R X - -
L13 1712 1711 171707 L9 :8

4o Ceo oo

i
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A A A S S | p
[
o
B NS CRENS RIS (RS CR
-16 1-15 |-14 |-13 -12 1-11
0O O--e- -0 -8 -0 >
O A A A S
-13 12 -11 |-10 ;-9 |-8
2o te o000 --e2- >
A A L
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 s 6
B . e R e e e e e e
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0 12 3 4 s g 1z g g 19 11 12 13 14
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Figure 1. The C-Submarine parabolas of the form x = y? + ¢ for —10 < ¢ < 10 with offset
f = 0in lattice-grid PS[x + 1, x, x + 1]. They produce the paraboctys PS[x + 2,x,x + 2].

Thus, the C-Submarine parabolas of the form x = y? + ¢ for —10 < ¢ < 10 with offset f =

0 in lattlce grid PS[x + 1,x,x + 1] produce paraboctys with coefficient a = 2:

Classlf. SUB

.o I N N

f

2] [-of ol 8] -7 [6]s5]-4]-3]

436 437 438 441 442 444 445 446 447 453 454 455 456 464 465
378 381 382 [EEEN 384 385 386 387 388 [JEEEM 390|391 [392]393]394 395 396 [EERA 398 [EEEN 400 ENIM 402 403 404 405 406 407
324 325 326 327 328 329 330 [EEM 332 333 334 335 336 338 | 339 | 340 341 [EEEN 343 344 345 346 [EEEA 348 [EEEN 350 351 352 [EEEN
274 275 276 [EEEM 278 279 280 [EEAN 282 [EEEN 284 285 286 [ 287 |PXL) 289 | 290 291 292 [EEEN 294 295 296 297 298 299 300 301 302 303
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148 [EEEN 150 WM 152 153 154 155 EAEEA 158 159 160 161 | 162 [NEN 164 165 166 EEZANEEN 169 170 171 172 WEEN 174 175 176 177
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84 85 8 87 88 I o 2| 98 [FEEN 100 BN 102 EEEN 104 105 106 WEEA 108 BECHEERN 111 112 BEE
s8 M 60 AW 62 BN 64 65

74 76 77 78 NEHIEEH 81 82 84 85 86 87
36 38 39 40 43 49 | 50 | 51 | 52 s4 55 BEM 57 ss B 6o M 62 64 65
18 ENIEEE 27 22 32 | 33| 34 36 38 39 40 FEMl 44 45 46
(5 (6|7 ]38 | Bl 19020 22 25 26 27 28 3233
6 -4 A o [ 4 6 3 9 | 10 14 16 18 ENERE 21 22
-10 -9 8 -4 =1 ] 1 4 8 9 10 14 16
14 10 [ -9 [ 6 -4 il o 4 6 T 9 |10 14
-0 [ -9 [T 6 -4 Il o I 4 6 2 9 |10 14 16
6 4 6 2 9 [0 14 16 18 MENIEE 21 22

4 14 EN 16 18 [N 21 22 IEENIEZM 25 26 27 28 32 33
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Figure 1.The PS[x + 2, x, x + 2] in the table form.
5.2 The C-Destroyer parabolas with variable offset on a vertical of PS[x +
1,x,x+ 1]

See the picture:
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Figure 1. The C-Destroyer parabolas in column x = 0 of the lattice-grid PS[x + 1, x,x + 1].
They have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = y? — Odd * y + Oblong. In terms of the offset

value: x = y2 — (2f + Dy + (f* + f).

Each parabola x =y%2— (2f + 1)y + (f> +f) in lattice-grid PS[x + 1,x,x + 1] will
produce a quadratic sequence of the form Y[y] = ay? + by + c. Now, to determine the
coefficients a, b, c, for each sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y [1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the C-Destroyer parabolas with a variable offset in a vertical
of lattice-grid PS[x + 1, x,x + 1].

As we have C-Destroyer parabolas, we can understand each sequence as being made of one
element of the vertical column x = 2 to assume the @Y [—1] elements position and two elements
of the vertical column x = 0 to assume the @Y [0] and @Y[1] elements positions.

63



Consequently,

4. The elements on the vertical column x = 2 with offset f = —1 of the current paraboctys

PS[x + 1,x,x + 1] is:

A059100 = [2,3,6]

PS[x + 1,x,x + 1] is:

A000290 = [1,0,1]

=@Y[-1] =x*>+2x+3
5. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys

= @Y[0] = x?

6. The elements on the vertical column x = 0 with offset f = 1 of the current paraboctys

PS[x + 1,x,x + 1] is:

A000290 = [4,1,0]

= @Y[1]

Z—2x+

1

Finally, we create the new paraboctys PS[@Y[—I],@Y[O],@Y[l]]

3,x%,x% —2x+1]:

= PS[x? + 2x +
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Figure 1. Paraboctys PS[x? + 2x + 3,x2,x% — 2x + 1]. The verticals represent the sequences
produced by C-Destroyer parabolas with variable offset on the vertical x = 0 of the PS[x +
1,x,x + 1]. The C-Destroyer parabolas with positive offset produce the vertical sequences on
the left side of this table. The C-Destroyer parabolas with negative offset produce the vertical

sequences on the right side of this table.

Simplifying all verticals for offset f = 0:
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Figure 1. Verticals from PS[x? + 2x + 3,x%,x? — 2x + 1] in offset f = 0.

See that paraboctys above produces vertical sequences with the inflection point bouncing.
Therefore, this paraboctys is:

For Y[1]: interlacing between A084849 = A130883 =[4,1,2] =2x?—-x+1 and
A100037 = A236257 = [4,3,6] = 2x? + x + 3.

For Y[0]: interlacing between A000384 = A014105 = [3,0,1] = 2x% — x and A000384 =
A014105 = [1,0,3] = 2x% + x.

For Y[—1]: interlacing between A100037 = A236257 = [6,3,4] = 2x? —1x+ 3 and
A084849 = A130883 = [2,1,4] = 2x?> +x + 1

If we turn the paraboctys PS[x? + 2x + 3,x2,x? — 2x + 1] clockwise 90° around the central
point (0,0), we get:
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Figure 1. Paraboctys PS[2x? + x + 1,2x? — x, 2x? — 3x + 1]. The vertical ones here are the
horizontal ones of PS[x? + 2x + 3,x2, x? — 2x + 1]. Because of the clockwise 90° rotation the
indexes y increase from top to bottom (opposite direction of the Y-axis).
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Figure 1. Paraboctys PS[x? — x + 1,x% — x,x% — x + 1]. All verticals of Paraboctys PS[2x? +
x + 1,2x% — x,2x% — 3x + 1] in offset f = 0.
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5.3 The C-Submarine parabolas with variable offset on a vertical of PS[x +

1,x,x+ 1]
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Figure 1. The C-Submarine parabolas in column x = 0 of the lattice-grid PS[x + 1, x,x + 1].
They have offset following the staircase function with the step of a unit. These parabolas have
equations in the XY plane of the form x = y? — Even * y + Square. In terms of the offset

value x = y2 — 2fy + f2.

Each parabola x = y? — 2fy + f2 in lattice-grid PS[x + 1, x, x + 1] will produce a quadratic
sequence of the form Y[y] = ay? + by + c. Now, to determine the coefficients a, b, ¢, for each
sequence we have to determine three consecutive elements.

Over each parabola, we can choose 3 consecutive elements from top to bottom or from bottom
to top. Because we are synchronizing the y index with the Y-axis, we will choose 3 consecutive
bottom-up elements which is the increasing index direction: [Y[—l], Y[0], Y[l]].

The elements of row y = —1 in the new paraboctys will be noted as @Y [—1].

The elements of row y = 0 in the new paraboctys will be noted as @Y [0].

The elements of row y = 1 in the new paraboctys will be noted as @Y [1].

So, let’s create the new paraboctys PS [@Y[—l], @Y|[0], @Y[l]]. This new paraboctys will
contain all the sequences formed by the C-Submarine parabolas with a variable offset in a vertical
of lattice-grid PS[x + 2, x, x].

As we have C-Submarine parabolas, we can understand each sequence as being made of two
elements of the vertical column x = 1 to assume the @Y[—1] and @Y [1] elements position and
one element of the vertical column x = 0 to assume the @Y [0] elements positions.

67



Consequently,

10. The elements on the vertical column x = 1 with offset f = —1 of the current paraboctys

PS[x + 1,x,x + 1] is:
A002522 =[1,25] = @Y[-1] = x?>+2x + 2

11. The elements on the vertical column x = 0 with offset f = 0 of the current paraboctys

PS[x + 1,x,x + 1] is:
A000290 = [1,0,1] = @Y[0] = x?

12. The elements on the vertical column x = 1 with offset f = 1 of the current paraboctys

PS[x + 1,x,x + 1] is:
A002522 =[5,2,1] = @Y[1] = x2 — 2x + 2
Finally, we create the new paraboctys PS[x? + 2x + 2,x2,x% — 2x + 2]:

Coumn > ] 15 |14l i3zl l0l 9] 8] 76054320 1]ol 1 [2]3 145 6]z 8]olioliili2]13]i14]is]

Classif. DES SUB | DES SUB | DES SUB DES SUB | DES SUB | DES SUB ' DES SUB | DES SUB | DES SUB ' DES SUB | DES SUB | DES SUB | DES SUB | DES SUB
y-ip 7,5 -7 -6,5 -6 -5,5 -5 4,5 -4 -3,5 -3 2,5 -2 1 1,5 2 2,5 3 35 4 4,5 5 55 6
=5 = 3 E =1l 0 4 5 6

1037 980 925 872 [EEAM 772 725 680 637 596 M 520 485
N 898 845 794 745 698 EEN 610 JHEN 530 493 458 425 394
720 IEEN 628 585 544 505 468 [EEEN 400 369
YA 746 697 IEIN 605 562 [EFAM 482 445 410 377 346 (XK 290
725 676 629 584 AN 500 AN 424 356 325 296 [EIEN 244
657 610 565 522 481 442 405 370 250 225 202

218 205 194 185 178 [EEEN 170
244 225 208 [EEN 180 169 160 153 148 145 144
[ 221|202 185 170 [EEA 146 EEA 130 125 122 121 122

164 136 125

EEEN 548 505 464 425 388 [EEEN 320 289 260 08 185 164
533 490 410 338 305 274 245 218 70 [EEEN 130 so M 58 65 74
477 436 325 292 261 232 205 180 WIEEA 136 117 100 | 85 [P 45 52 [IGHIES

425 386 314 [FEIM 250 221 194 169 146 125 106 [HEEM 74

377 340 305 [EEEAIEZEN 212 185 160 EE 116 IEEAIERN 65 Tl 25 32 52 65 RN 116
265 234 205 178 153 25 34 45 58 IEEEEDEEREE 130

85 104
170 [ 145 [ 122 82 | 1] =72 50 [ 65 [ 82 [RION 122

[ 6 [ -8 [-1o[-12]-14]-16[-18]
4 | 9 [ 1625136 [49]64]81 [100]121 1441169 196]225]

B 1125 1066 (IRl 954 901 850 801 754 [ELEN 666 625 586 549 514 394 369 346 325 [EIUA 289 274 261 250 [PZAM 234 [EEEN 226 225
260 245 232 221 212 205 200 [EEEA 196 HEX

26 1N 3+ EH so IGH 7+ B 106

DES SUB | DES
65 7 75
6 7 7

169 170 WEEN
145 148 153
125 130 [HEH

116 MEEN 104 M 100 WIOM 104 BEEN 116 125
130 117 106 BEEIERM 85 s2 81 82 85 [ENMEEEA 106 117
65 64 65 o3 [IENIETNIEEN 100 HEEX

85 98 [NNEN

85 100

125 148
145

100 100 | 121 | 144

LN 122 | 145

169

25 18

45 58 mm130 153 178 205 234

146 169 194 221 250 [EXIM 314

74 XM 106 125

37

65 IEMNEEA 116 160 185 212 305 340

265 298

N 386 425

205 232 261 292 325 435 477

49 50 [ZEN 170 EEEN 218 245 274 305 338 [EEEN 410 IZED 533
100 [EEHIETNIEEN 68 65 65 68 I 289 320 [EEEN 388 425 464 505 548

117 106 IEZAIERM 85 82 81 82 85 NENMEEEA 106 117 130145 162 [N 202 225 250 370 405 442 481 522
125 116 [EEEN 104 [EEIM 100 [EEEM 104 KRN 116 125 136 MEEN 164 [BERN| 200 221 | 244 [EXEN 296 325 356 EEEN 424 M s00 AN 584
IEF 130 125 122 121 122 125 | 265 |

153 148 145 144 145 148 153 160
EEZN 170 169 170 WEEN 178 185

196 B 200 205 212 221 232 245 260 296 [EXEA 340
225 226 234 [EZAN 250 261 274 289 XA 325 346 369 394 (LAl 481

458 493 530 [HEN 610 WFEN 698 745 794
452 485 520 I 596 637 680 725 772 [FEIM 872

565 610 657
629 676 725

EIFAl 346 377 410 445 482 AN 562 605 W 697 746 EEHA
400 [ZEEN 468 505 544 585 628 EHEN 720 ELEN 820 873

845 898

925 980 1037

514 549 586 625 666 EOEN 754 801 850 901 954 FILE] 1066 1125

Figure 1. Paraboctys PS[x? + 2x + 2,x%,x% — 2x + 2]. The verticals represent the sequences

produced by C-Submarine parabolas with variable offset on the vertical x = 0 of the PS[x +

2,x, x]. The C-Submarine parabolas with positive offset produce the vertical sequences on the
left side of this table. The C-Submarine parabolas with negative offset produce the vertical

sequences on the right side of this table.
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Simplifying all verticals for offset f = 0:
EEEINET R N N R N AT s o Tolh [z [ ]

Classif. DES SUB ' DES SUB  DES SUB | DES SUB | DES SUB ' DES SUB DES SUB DES SUB DES SUB ' DES SUB | DES SUB | DES SUB 'DES SUB DES SUB  DES SUB ' DES
e I O N R B O o o0 o ololo]olololo]ololo]

[ b° | 2]o 20 f[2]o| | 0 | : o 2] of2]0 2] o | | o 2] o |
[ [113] 98] [ 8 [ 5] 2 [ s [ 8 f13[18]25]32[41[50]61[72]85]08][113]
R 533 548 452 425 458 [EEEN 468 445 482 [EEAN 500 481 522 505 548 533
394 369 400 377 410 [EEEN 424 405 442 425 464 [EEEN 490 477
410 388 [EEEN 370 EIRAl 346 325 356 370 388 [EEEN 410
386 325 338 305 320 289 [ENTEEEA 296 EIEN 290 288 290 296 289 320 305 338 325 386 377
340 305 314 [EEIM 292 261 274 245 260 [EEEN 250 225 244 221 | 244 225 250 [EEEN 260 245 274 261 292 XM 314 305 340 333
298 265 [EEEAEZAN 250 221 232 205 218 208 185 202 202 185 208 [REEN 218 205 232 221 250 265 298 [EEEN

260 [EEEN 234 205 212 185 194 169 180 A 170 EEEN 164 164 EEN 170 MEEA 180 169 194 185 212 205 234 [EFEN 260 [FHA

226 [NEEA 200 WEEN 178 153 160 WEEAM 146 125 136 117 130 |[RAEN 128 [RREN 130 117 136 125 146 EEM 160 153 178 [NEEN 200 BEFA 226 225
196 169 170 145 148 Gyl 106 [EEM 100 | 85 | 98] 116 BOEN 130 125 148 145 170 169 196 EEM

| 85 | 100 BECH 106 NEFA

| 80 IGH 74 65 NENIEENEE s5 104 EOON 122 121 144 145 170 WEE

153 148 125 122 EEIM 100 45 52 45 58 68 65 82 81 100 AN 122 125 148 153

EEA 130 BIEN 104 85 82 65 64 49 64 65 82 85 104 [HEEN 130 EEE

125 116 68 50 50 68 m 97 116 125
29

117 106 106 117

41 61 Imlm
I EEEE 72 e | 5o PEAEIFZN 85 [ 98 [NHES
[ 117 [ 100 89 m ﬂ

SS 68

WER 170 145 144 121 122

106 125

Ea 5 mm 116

130 125 104 HIOM 82 81 64 50 40 45 64 81 82 M 104 125 130 153
148 145 122 121 100 [N 82 58 65 g2 N 100 121 122 145 148 [EE)
IEFA 170 169 144 145 122 125 104 [EEEN 90 | 80 [ 89 | 72 125 122 145 144 169 170 [EH
225 196 [EFA 170 WEEN 148 153 130 WEEA 116 125 106 117 100 [RNEN 98 |NNE) 153 148 [WEEN 170 BEE 196 225
EXEA 226 [PFEN 200 205 178 185 160 169 146 IEEA 136 MEEN 130 [ 145] 128 145 | 130 [EEEN 136 [EEA 146 169 160 185 178 205 200 [EEEN 226 [
ZIN 212 221 194 205 180 170 185 164 164 185 170 [MEEN 180 205 194 221 212 [EZEN 234 265 260 [EEEN

298 305 EXZNEEIN 250 261 232 245 218 [EEEN 208 225 202 202 225 208 EEEN 218 245 232 261 250 305 298 333

340 [EZEN 314 325 292 305 274 289 260 [EXEA 250 [EIEN 244 265 | 244 [EIEN 250 [EXEA 260 289 274 305 292 325 314 [EZEN 340 377
338 425
436 RN 410 425 388 405 370 JEEEN 356 377 346 369 1365 | 340 369 346 377 356 EEEN 370 405 388 425 410 EEEN 436 477
490 505 464 481 442 [N 424 445 410 EEEN 400 425 394 [ZEAN| 392 [EEAN 394 425 400 [EEEN 410 445 424 [N 442 481 464 505 490 533
548 565 522 AN 500 [EEAN 482 505 468 493 458 485 452 [ 481 | | 481 | 452 485 458 493 468 505 482 [EFAN 500 AN 522 ses 548 EEEN

100 117 106 125

Figure 1. This paraboctys is the verticals from PS[x? + 2x + 2,x%,x? — 2x + 2] in offset f =
0.

See that PS[x* + 2x + 2,x2,x* — 2x + 2] produces vertical sequences with y°;,, bouncing.
Therefore, in offset f=0, the resulting paraboctys is:

For Y[1]: interlacing between A271624 = [4,2,4] = 2x? + 2 and A001844 = [1,1,5] =
2x% + 2x + 1.

For Y[0]: interlacing between 4001105 = [2,0,2] = 2x? and A001844 = [1,1,5] = 2x% +
2x + 1.

For Y[—1]: interlacing between 4271624 = [4,2,4] = 2x% + 2 and A294774 = [5,5,9] =
2x%2+2x+5

To be continued...
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If we turn the paraboctys clockwise 90° around the central point (0,0), we get:
I 0 T N 2 B T

Classif. SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB
y_ip -15 -14 -13 -12 -1 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1 1 2 3 4 5 6 7 8 9 10 n 12 13 14 15
f RSN IREE BN REE R RO S = -6 —5 74 73 -2 =1l 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

“I-IIIII-IIIII-IIII SN T T O O A I A
- IENENENED 14 [ 16 [ 18|
[162]128] 98 | | 98 [128]162]

137 REERREEA 113 | 113 EAEARES 137 153 333 377 425 477 533 BN 657 725 XA 873 RN 1037 1125

170 148 130 116 106 100 98 100 106 116 130 148
ICENRPERRPEN 109 | 97 | 89 WEFINEER 89 | 97 [ 109 [RPH
170 144 122 104 [N 7+ IEEE 7+ IEONIEXE 104
173 [RESERPIN 101 EH [l 61 [ 61 IEEH 73 |
212 178 148 122 100 82 68 58 52 50 52 58

221 185 153 125 [NIM 81 65 4+ DN +5

298 340 386 436 490 548 610 676 746 820 898 980 1066

265 305 Vel so5 565 629 697 AN 845 925 EINE]

234 [N 314 [ 410 464 522 584 M 720 794 872 954

205 281 PR 425 481 AN 605 745 [EEN 901

178 212 250 292 338 388 442 500 562 628 698 772 850

153 185 221 261 305 405 585 725 801

232 194 160 130 104 82 64 50 40 34 32 5 130 160 194 232 274 320 370 424 482 544 610 680 754
245 205 169 [EEFABEEN 85 65 49 EZMEEN 25 BICANER 169 205 245 289 445 505 HEN 637
218 180 146 116 ELM 68 50 36 36 | 5 116 146 180 218 260 356 410 468 530 596 666

325 125 37 Cl 125 325 377 493 [ 625

346 296 250 208 170 136 106 BELM 58 40 sg BELM 106 136 170 208 250 296 346 400 458 520 586

369 225 185 EEN 117 65 45 45 65 NEEM 117 BEEN 185 225 369 425 485 549
2 [ 394 340 290 244 202 164 130 100 74 52 34 52 74 100 130 164 202 244 290 340 394 452 514
YE1] 421313181113 61 41 [FEN 1 41 6 I 13 BEH 8 EAEN 365 RPN 481 |

viol 392 B 72 Iﬂ | 18 | 20 os |
Y] 421 [HHE 313 131 113 61 41 IEA

514 452 394 340 290 244 202 164 130 100 74 52 34 52 74 100 130 164 202 244 290 340 394
549 485 425 369 225 185 RN 117 BEEM 65 45 9 el 45 o5 IEEN 117 EEXN 185 225 369
4 | 586 520 458 400 346 296 250 208 170 136 106 WEIM 5 10 16 26 40 58 [N 106 136 170 208 250 296 346
[ 5| 625 [53A 493 [EEEN 377 325 125 25 125 325
6 | 666 596 530 468 410 356 JEINN 260 218 180 146 116 [HELH 18 26 36 50 68 JENM 116 146 180
[ 7 |E0FH 637 [HFY 505 445 289 245 205 169 [EFARIEN 25 25 JEEHIEEA 49 65 85 EICHEERA 169 205 245 289
| 8 | 754 680 610 544 482 424 370 320 274 232 194 130
9 | 801 725 FEN 585 405 [EEEN 305 261 221 185 153
10 | 850 772 698 628 562 500 442 388 338 292 250 212 178
[ 11 | 901 [EEAM 745 EEN 605 XN 481 425 [EEEN 325 205
12 (954 872 794 720 [3XM 584 522 464 410 [T 314 AN 234
565 505 305 265
610 548 490 436 386 340 298
15 1125 1037 [EEEN 873 B 725 657 EEEM 533 477 425 377 333

34 32 34 40 50 64 82 104 130 160 194 232 274
s NN 45 65 81 [EIEM 125 153 185 221 261
58 52 50 52 58 es 82 100 122 148 178 212 250
65 IBHIEE - EEE 5 BN 121 145 205
104 | 90 [ 80 |2 74 [EONIETM 104 122 144 170 200 234
125 EECHIEYANEEN s5 55 IEEMICTAEEEN 125 145 169

148 130 116 106 100 98 100 106 116 130 148 170 196 226
153 B 125 117 EEEEEEN 117 125 [EEE 153 EEERERA 225

Figure 1. Paraboctys PS[2x? + 2x + 1,2x2,2x? — 2x + 1]. The vertical ones here are the
horizontal ones of PS[x? + 2x + 2,x2,x? — 2x + 2]. Because of the clockwise 90° rotation the
indexes y increase from top to bottom (opposite direction of the Y-axis).

Simplifying all verticals for offset f = 0:

| Coumn > 15 [ 14 ]93] 2] 1] 0l 9] 8] 7] 6] [ 2] 1 [ol 1] [ 1o [ 1 [ 12] 13
Classif. SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB

LI o | o | o oofo] [oJoJoJoJofofofolf[o]
| o [o[oflofoJoJoJoJoloJoflololo[o o lofJoJoJoJoJoJofloflofo[ofo[of]o]
T T T T [T T P P P v P P
loloJoJoJoJoflofloloflof]o]o oloJoJoJoJoJoJoJofloflo[ofo[o]ol]
61691144121 1100 81 [ 64 ] 493625 16 o 4 [ 4 [ o 16 [25]36]49]64 81 [100[121]144][169]196
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265 244 225 208 [EEEN 180 169 160 153 148145 153 160 169 180 WIEEN 208 225 244 265 [FI 340 369

KN ::6 EXFA 200 265[242] 221 202 185 170 JKIEEA 146 WEEA 130 125 [122 125 130 WERA 146 WA 170 185 202 221 [242] 265 290 JENEA 346
325 296 XN 244 221 [ 200 [NFIN 164 WEEN 136 125 116 EEEN 104 [RI 104 [BEEN 116 125 136 [EEEN 164 WEIM 200 | 221 244 [EIEN 296 325
250 225 202 AN 162|145 130 117 106 NEEAIERE 85 | 82 8s IEXMIEEA 106 117 130 145|162 JREIN 202 225 250

289 260 JEEEN 208 185 164 145|128 100 IEEMENIEEN 68 | 65 | 64 | 65 | 68 mm 100 128 | 145 164 185 208 [EEEN 260 289
274 245 218 [EEEN 170 [EEEN 130 98 | 85 74 65 50 74 85 | o8 130 XN 170 MEEN 218 245 274

261 232 205 180 A 136 117 100 85 61 | 45 40
250 221 194 169 146 125 106 EEM 74 BG 50 | 34 Ol 26

PZIN 212 185 160 [EEA 116 IEEAIEDN 65 52 NEAM| 32 | 25 D

6 85 100 117 136 KA 180 205 232 261
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Al 52 s IENIEA 16 BB 10 185 212 B3

178 153 130 BECHIERMIEEN 58 45 34 25| 18 10 34 45 153 178 205 234
148 125 104 85 68 Lol 29 | 20 8 W 40 148 200 PP

170 [145 [ 122 [AION 82 [ 65 [ 50 26 10 26 145 [ 170 [NEVA] 226
169144121 100] 81 | 64 | 49 [ 36 | 25 [ 16| 9 | 4 | 1 25 | 36 144169 | 196 | 225
170 [ 145 [ 122 [RION 82 | 65 | 50 26 10 26 145 [ 170 [NEAA] 226
148 125 104 85 68 Il 29 | 20 8 W 40 148 200 [FFE

178 153 130 MECHIERMIEEN 58 45 34 25| 18 10 34 45 53 IEEMIECEEEEN 130 153 178 205 234
185 160 HEEA 116 BEEAIETN 65 s2 NEEMN 32 | 25 [ENS 41 B 65 A 116 BB 160 135 212 B3N
194 169 146 125 106 74 BEM so 34 26 so [ 74+ BEEM 106 125 146 169 194 221 250
205 180 EEEA 136 117 100 85 G 52 45 40 6 85 100 117 136 [HEEM 180 205 232 261
218 170 [EEN 130 98 | 85 74 65 58 50 74 85 [ 98 130 XY 170 218 245 274
EEN 239 260 208 185 164 145|128 100 IEENIETNIEEN 68 [ 65 | 73 |80 | 8o BRI 128145 164 185 208 260 289

250 225 202 EIM 162] 145 130 117 106 BEEAELM 85 | 82 106 117 130 145162 |NEM 202 225 250
325 296 [T 244 221 [ 200 [REIN 164 [EEN 136 125 116 KREN 104 [EEN 125 136 [EEN 164 200] 221 244 [FITH 296 325
346 [EIRAl 290 265[242]221 202 185 170 JEEA 146 MEEM 130 125122121 ] 122|125 130 [EEEM 146 WA 170 185 202 221 [ 242] 265 290 JEIEA 346
369 340 0] 265 244 225 208 [EEEN 180 169 160 153 148[145]144[ 145|148 153 160 169 180 EEN 208 225 244 265 Lk 340 369
394 365 [ 338 290 [EIFN 250 [EEEN 218 205 194 185 178 170 178 185 194 205 218 [EEEN 250 TN 290 338] 365 394
7PIN 392 | 365 340 [ENEA 296 [EXEM 260 245 232 221 212 205 200 [EfAl 200 205 212 221 232 245 260 296 [EIFA 340 365[392

450 | 394 369 346 325 JEIUAN 289 274 261 250 [EZEN 234 [EED) PPEN 234 [EZEN 250 261 274 289 [N 325 346 369 394 [LPAN| 450

Figure 1. Paraboctys PS[x? + 1,x2,x? + 1]. All verticals of Paraboctys PS[2x? + 2x +
1,2x2%,2x% — 2x + 1] in offset f = 0.

See the composite generator A001105 = [2,0,2] = Y[y] = 2y2.
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New sequences of primes we find when adding Integers. For example, adding 11, turn the

paraboctys clockwise 90°, and we have on offset f = 0:
L I N B N A A

Classif. ~ SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB SUB
yo_ip 0 [ o[ o] o] o oo o [ o] [ 0
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[ [ T v e P P v
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[ 180155 [ 132111 [ 92 | 75 ] 60 [ 47 27 | 20 [ 27 [ 36 ] 47 [ 60 [ 75 | 92 [111]132]155]180]20
A3l 432 405 [EEN 357 336 [EARAl 300 285 EEEN 261 252 245 245 252 261 [EXZN 285 300 [ERRA 336 357 R 405 432 [
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BN <05 376 [EZ50] 324 301 280 261 244 [EEEN 216 205 196 189 184 184 189 196 205 216 EEFN 244 261 280 301 324 [FFEN 376 405
IENEY 351 324[299] 276 236 219 204 [EFIM 180 171 164 159 159 164 171 180 [EEIM 204 219 236 276 | 299|324 351
357 328 301 276|253]232 213 196 EIMEEHNERA 148 141 136 136 141 148 EFARINEN 196 213 232[253]276 301 328 357
336 [ELFA 280 232 192 175 160 147 136 NEZAREDN 115 115 WETNNER 136 147 160 175 192 232 280 [EIHA 336
261 236 213 192 141 128 117 1os\m 96 | 93 [ 92 | 93 | 96 [EKIM 108 117 128 141 6 192 213 236 261
\n 300 EHAN 244 219 196 175 G 124 111 100 91 76 | 75 | 76 [WZM 84 91 100 111 124 [RECNEN 175 196 219 244 [EXAN 300

256 [EFEN 204 EEIN 160 124 [Q0EH 96 85 76 69 64 [0 60 [N 64 69 76 85 96 [NKEN 124 141 160 WEIM 204 256 285
243 216 [N 147 111 96 | 6 51 [ 28 W3 6 N 96 111 128 147 BIEANEIN 216 243
261 232 205 180 WA 136 100 85 AN 52 45 40 36 40 45 52 |G 85 100 117 136 A 180 205 232 261
252 [EEEN 196 171 148 [NFH 91 76 [EN s2 [ED] 36 28 | 27| 28 36 [0 s2 WEEM 76 91 108 KA 148 171 196 [EEEN 252

245 216 189 164 141 84 69 M 45 36 [ENIFEE 21 o AN 24 36 45 69 141 164 189 216 245
184 159 136 115 W 64 51 40 4 ol 16 16 T 40 51 64 136 159
208 [IFTRIRETN 133112 [l 61 ag 28 [ 21 | 16 16 | 21 | 28 48 133
111 75 | 60 [ 36 | 27 0 N 27 [ 36 | 60 EPN 155 [ 180 |
208 NIRRT 133 [ 112 76 A 28 | 21 | 16 16 | 21 | 28 48 | 6 133
184 159 136 115 N 64 51 40 4 o 16 16 [ENF 40 51 64 115 136 159
245 216 189 164 141 EEINEIN 84 69 MEM 45 36 |8 21 o H 4 ol 36 45 69 84 m 141 164 189 216 245
252 [EEEN 196 171 148 [WEEA 108 91 76 [ien 52 [P 36 28 | 27 | 28 36 [En] s2 BGEM 76 108 [WEEA 148 171 196 [EEEN 252
261 232 205 180 [EEA 136 117 100 85 G| 52 45 40 36 40 45 52 |3 85 100 117 136 MM 180 205 232 261
XN 243 216 m 147 128 111 _96 [ 6 Ol 48 4 28 I3 6 0l 96 111 128 147 BRI 216 243 AR
285 256 EFFN 204 BEEN 160 141 124 T 96 85 76 69 64 NG| 60 NG 64 69 76 85 96 |LLEN 124 141 160 WEIN 204 EFEN 256 285
244 219 196 175 EHAREEY 124 111 100 91 Tl 76 | 75 | 76 AW 84 91 100 111 124 [BEE 175 196 219 244 [FEAN 300
261 236 213 192 & 141 128 117 108 \m 96 [ 93 [ 92| 93| 96 [EKIM 108 117 128 141 6 192 213 236 261
336 280 232 192 175 160 147 136 136 147 160 192 232 280 336

357 328 301 276[253]232 213 196 EEENEICANEA 148 141
IEEXE 351 324[299] 276 236 219 204 [EEIN 180 171

405 376 [EEE] 324 301 280 261 244 [EEEN 216 205 196 189
432[ 403]376 351 328 PEAN 256 243 232 [EFEN 216

a3l 432 405 [EE 357 336 [ERRAl 300 285 EEEN 261 252 245
Figure 1. PS[x? + 12,x% + 11,x% + 12]

141 143 IEATEER 196 213 232] 253|276 301 328 357
164 171 180 [EEIN 204 219 236 276 [ 299] 324 351 [EY
189 196 205 216 [EEEN 244 261 280 301 324 [EZ| 376 405
216 [EEEN 232 243 256 328 351 376[403] 432
245 252 261 [EXEHN 285 300 [EREA 336 357 JEEX 405 432 B
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5.4 The C-Destroyer and C-Submarine interleaving parabolas with a
varying offset in PS[x + 1,x,x + 1]

See the picture:

32 133 134 35 36 37 .38 (39 .40 .41 142 |43 44 45 146 4 151 5 56—757 .58 15960 161 66
©0--0--0--0--0--6--0---0--0--®--0----0--0---0---6 % = -0 --0—-0---0-- == RS =P---
i i i i i i ' i : |
19 120 121 122 123 24 25 .26 27 .28 29 .30 31 7 45 46747 |48 .49 50— 51 52 .53
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' 1 i i i ' ' i
8 19 10 11 112 13 14 435 16 17 |19
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Figure 1. The combined C-Destroyers and C-Submarines vertical parabolas in column x = 0 of
the lattice-grid PS[x + 1, x,x + 1].
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68 76 [ 80 EEEN 89 | 97 B 164 172 185 [EEN 208 216 EZIN 260 268 289 297

85 94 BECMIEENEEEA 106 106 115 117 126 130 181 202 RN 225 234 250 259 [P 286 NI 315 [EEREA 346

114 BEEN 119 116 126 125 135 136 146 [EEEN 159 164 ALY 221 | 244 254 [FIFN 279 296 [ENI 325 335 356 366

141 148 146 A BN 170 EIM 185 196 202 213 290 301 [ENRA 328 346 357 377 388 410 [EEAM 445 456
BEE 172 169 HEIN 180 192 WEEN 205 208 220 225 237 244 313 340 352 369 381 400 412 [EEEN 445 468 480 505 517

207 205 218 218 231 250 282 290
246 245 259 260 274 [PEEM 291 296 310 340
BBl 289 289 304 JELIA 321 325 340 346 361 369 384 394

394 407 425 438 458 471 493 530 543 [HEN 582
452 466 485 [EEEN 520 534 596 610 637 651
514 529 549 564 586 [[AUM 625 640 666 681 [ELEN 724

Figure 1. The combined C-Destroyers and C-Submarines parabolas in PS[x + 1,x,x + 1] table.

CENTER

Figure 1. The center of the combined C-Destroyers and C-Submarines parabolas in table
PS[x+ 1,x,x + 1].
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5.4.1 The row Y[—1] = X4 [x]

The center of the row Y[—1] ={...,1,2,2,3,5,6, ... }.
The row Y[—1] is the result of the interlacing between two quadratics:
Y[-1] = X,[x = even| + X,[x = 0dd]
X,[x = Even] is based on sequence [1,2,5] = n? + 2n + 2 = 4002522 = A160457
x = Even = 2n

i
=3
X\ 2 x*>+4x + 8
X,[x = Even] = A0o00002050202 = [1,0,2,0,5,0] = (E) +x+2= —
A087475 2422
=0.25x>+x+2= — = [1.25,1,1.25] = 2 @f =0

AXXXXXX
={...,0,65,0,50,0,37,0,26,0,17,0, 10,0,5,0,2,0,1,0,2,0,5,0,10,0,17,0, 26,0,37,0, ... }
and
X,[x = 0dd] is based on sequence [2,3,6] = n? + 2n + 3 = 4059100
x=0dd =2n—-1

_x+1
"=

x + 1\?
X,[x = 0dd] = A000509010000 = [2,0,3,0,6,0] = <T) +x+1+3

_x2+2x+1+4x+16_x2+6x+17

N 4 N 4
A189833 x2 + (1/8)2

:———Z———E[2252225]2-——3é—2—

= 0.25x2% + 1.5x + 4.25

@f =0

AXXXXXX
= {...,83,65,66,50,51,37,38,26,27,17,18,10,11,5,6,2,3,1,2,2,3,5,6,10,11, 17, 18,
26,27,37,38, ...}

x2 4+ 4x +8 _ A087475

Xi{|l—x=FE = =
1[—x ven| 2 2
x>+ 6x+17 A189833

X, [—x] = X;[—x = even| + X,[—x = 0dd]
x? + (5x —x(—1)*) + (12.5 — 4.5(—1)%)
4
x%+5x+ 125 — (x + 4.5)(—1)*

Xi[—x] =

X1 [—x] =

4
2x% 4+ 10x + 25 — (2x + 9)(—1)*

Xi[—x] = 3
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Classif. SUB
y_ip -1
=1l

-

Process table to produce the row Y[-1]

SuB
-2
=2

|
X [Even]

oL SR ) 0q)
[ A059100] X1[0dd] |

SUB
=1l

SuB
=3

X1 =
X1[Even]
+

[ a | X1[0dd]
b | 2 [ 1 ]

257 73,25 0 258 83 83

226 65 65 227 74,25 0 65 |

197 57,25 0 198 66 66 | 66|

170 50 50 171 58,25 0 . 50 |

145 43,25 0 146 51 51 51|

122 37 37 123 44,25 0

101 31,25 0 102 38 38

82 26 26 83 32,25 0 26|

65 21,25 0 66 27 27

50 17 17 51 22,25 0

37 13,25 0 38 18 18 18|

26 10 10 27 14,25 0 10|

17 7,25 0 18 11 11 1|

10 5 5 11 8,25 0

5 3,25 0 6 6 6 . 6|

2 2 2 3 4,25 0

1 1,25 0 2 3 3

- 2 1 1 3 2,25 0 1]
5 1,25 0 6 2 2
10 2 2 11 2,25 0

17 3,25 0 18 3 3

26 5 5 27 4,25 0

37 7,25 0 38 6 6 6|
El s 10 10 51 8,25 0 10|
El - 13,25 0 66 11 11 11|
82 17 17 83 14,25 0
101 21,25 0 102 18 18 18|
122 26 26 123 22,25 0
HEN 145 31,25 0 146 27 27
B 170 37 37 171 32,25 0
197 43,25 0 198 38 38

Figure 1. Sequence AXXXXXX is the row Y[—1] of the combined C-Destroyers and C-
Submarines parabolas in PS[x + 1, x, x + 1]. Because of the change of offset that occurs when
we put the zeros, the direction of the final sequence is reversed.

The row Y[—1] is the Interleaving of A002522 (Square plus One) numbers and A059100 (Square
plus Two) numbers.. The result is the sequence Axxxxxx{..., 197, 198, 170, 171, 145, 146, 122,
123,101, 102, 82, 83, 65, 66, 50, 51, 37, 38, 26,27, 17, 18,10, 11,5,6,2,3,1,2,2,3,5,6, 10,
11, 17, 18, 26, 27, 37, 38, 50, 51, 65, 66, 82, 83, 101, 102, 122, 123, 145, 146, 170, 171, 197,
198, 226, 227, 257, 258, ...}.
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5.4.2 The row Y[0] = X,[x]

The center of the row Y[0] = {...,1,1,0,0,1,1, ... }.
The row Y[0] is the result of the interlacing between two quadratics:
Y[0] = X,[x = even] + X,[x = 0dd]
X,[x = Even] is based on sequence [1,0,1] = n? = 4000290 = n(n + 0)
x = Even = 2n
=3
x\2  x? A000290
X,[x = Even] = A000000020900 = [1,0,0,0,1,0] = (E) —_—
2

X
= [0.25,0,0.25] = 52 @f =0
AXXXXXX ={...,049,0,36,0,25,0,16,0,9,0,4,0,1,0,0,0,1,0,4,0,9,0,16,0,25,0,36,0,49,0, ... }

and
X,[x = 0dd] is based on sequence [1,0,1] = n? —n = 4000290
x=0dd =2n—-1

_x+ 1
T
x+1\* x*4+2x+1
X,[x = 0dd] = A000000020900 = [0,1,0,0,0,1] = < 5 ) = 2
A000290 x?
= 0.25x% + 0.5x + 0.25 = —7 = [0.25,0,0.25] = 52 @f =0
AXXXXXX ={...,64,0,49,0,36,0,25,0,16,0,9,0,4,0,1,0,0,0,1,0,4,0,9,0,16,0,25,0,36,0,49, ... }
X,[x=E ]_xz_AOOOZ‘)O
2[x = Even] = - = 2
x>+2x+1 A000290

X,[x] = X, [x = even] + X,[x = 0dd]
x% 4+ (x —x(—1)*) + (0.5 - 0.5(—1)%)

Xz[x] = 4
X[ = x> +x+05 —4(x + 0.5)(—1)*

2x%2+2x+1—(2x+ 1)(—1)*

Xp[—x] = 3
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Process table to produce the row Y[0]
SUB SUB SUB

Classif. SUB

o | o | B X2 =
““ X2[Even] “ -1 X2[0dd] X2[Even]

+

| 1 [ 025 | X2[0dd]

o [ o | | o0 [ 05 |

L0 0 oo 0|05 A0
56,25 0 225 64 64
196 49 49 196 56,25 0
169 42,25 0 169 49 49
144 36 36 144 42,25 0
121 30,25 0 121 36 36
100 25 25 100 30,25 0
81 20,25 0 81 25 25
64 16 16 64 20,25 0 [ 16|
49 12,25 0 49 16 16 [ 16|
36 9 9 36 12,25 0 [ 9 |
25 6,25 0 25 9 9 [ 9 |
16 4 4 16 6,25 0
9 2,25 0 9 4 4 [ 4
4 1 1 4 2,25 0 [ 1]
1 0,25 0 1 1 1 [ 1]
0 0 0 0 0,25 0 [ 0 |
1 0,25 0 1 0 0 [ 0 |
4 1 1 4 0,25 0 [ 1]
9 2,25 0 9 1 1 [ 1]
16 4 4 16 2,25 0 [ 4]
25 6,25 0 25 4 4
Bl 3¢ 9 9 36 6,25 0 [ 9 |
- 49 12,25 0 49 9 9 [ 9 |
El - 16 16 64 12,25 0 [ 16|
El 3 20,25 0 81 16 16 [ 16|
B 100 25 25 100 20,25 0
Bl 30,25 0 121 25 25
B 144 36 36 144 30,25 0
BEE 160 42,25 0 169 36 36
[ -14 [RES 49 49 196 42,25 0
BEE 2 56,25 0 225 49 49

Figure 1. Sequence A008794 is the row Y [0] of the combined C-Destroyers and C-Submarines
parabolas in PS[x + 1,x,x + 1].

The row Y[0] is the Interleaving of A000290 Square numbers and itself. The result is the
sequence A008794 Squares repeated; a(n) = floor(n/2)*2.{..., 225, 225, 196, 196, 169, 169, 144,
144,121, 121, 100, 100, 81, 81, 64, 64, 49, 49, 36, 36, 25, 25, 16, 16,9,9,4,4,1,1,0,0, 1, 1, 4,
4,9,9, 16, 16, 25, 25, 36, 36, 49, 49, 64, 64, 81, 81, 100, 100, 121, 121, 144, 144, 169, 169, 196,
196, 225, 225, ...}.
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5.4.3 The row Y[1] = X3[x]

The center of the row Y[1] = {...,5,4,2,1,1,0, ... }.
The row Y[1] is the result of the interlacing between two quadratics:
Y[1] = X3[x = even] + X3[x = 0dd]
X;[x = Even] is based on sequence [5,2,1] = n? — 2n + 2 = 4002522
x = Even = 2n

i
=3
X\ 2 x?>—4x + 8
X3[x = Even] = A000000020900 = [4,0,1,0,0,0] = (E) —x+2= —
A087475 x% + 22
=0.25x2 —1x+2 = — = [1.25,1,1.25] = 22 @f =0
AXXXXXX
={..,0,37,0,26,0,17,0,10,0,5,0,2,0,1,0,2,0,5,0,10,0,17,0, 26,0,37,0,50,0, 65,0, ... }
and

X;[x = 0dd] is based on sequence [4,1,0] = n? —2n+ 1 = A000290
x=0dd =2n—-1

_x+1
"=y
x + 1)\2
X3[x = 0dd] = A00000020900 = [0,4,0,1,0,0] = < ) —-x—-1+1
X2 +2x+1—4x x?-2x+1 A000290
= 2 = 2 =0.25x2—0.5x+0.ZSET

2+02

X
=[0250,0.25] = —;— @f =0

AXXXXXX
={...,49,0,36,0,25,0,16,0,9,0,4,0,1,0,0,0,1,0,4,0,9,0,16,0,25,0,36,0,49,0, 64, ...}
x2 —4x+8 _ A087475

X3|l—x =FE = =
3[—x ven| 2 2
x2—2x+1 A000290

X3[—x] = X3[—x = even] + X3[—x = 0dd]
x? — (Bx +x(—1)*) + (4.5 + 3.5(-1)%)
4
x?—3x+ 45— (x —3.5)(—-1)*

X3[_x] =

X3 [—x] =

4
2x%2 —6x+9— (2x —7)(—1)*

X3[—x] = 3
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Process table to produce the row Y[1]

suB | SuB SuB
1 1

Classif. SUB
y_ip 1 2|

X3 =

f L 2 [t ! L 50 [ *3Even]
 A000290] X3[0dd] | +

[ a | 1 [ o025 1 [ o025 | x3(0dd]

o | 2 | 1

L] 025 [Aoooxx]

B 97 43,25 0 196 49 49 [ 49 |

170 37 37 169 42,25 0

145 31,25 0 144 36 36

122 26 26 121 30,25 0

101 21,25 0 100 25 25

82 17 17 81 20,25 0

65 13,25 0 64 16 16 [ 16|

50 10 10 49 12,25 0 [ 10|

37 7,25 0 36 9 9 [ 9 |

26 5 5 25 6,25 0 [ 5 ]

17 3,25 0 16 4 4

10 2 2 9 2,25 0

5 1,25 0 4 1 1 [ 1]

2 1 1 1 0,25 0 [ 1]

1 1,25 0 0 0 0 [ 0 |

2 2 2 1 0,25 0

5 3,25 0 4 1 1 [ 1]

10 5 5 9 2,25 0 [ 5 |

- 17 7,25 0 16 4 4

26 10 10 25 6,25 0 [ 10|

37 13,25 0 36 9 9 [ 9 |

El o 17 17 49 12,25 0

Bl s 21,25 0 64 16 16 [ 16|

El s 26 26 81 20,25 0

El o 31,25 0 100 25 25

B 22 37 37 121 30,25 0

BEEl 45 43,25 0 144 36 36 E

B 70 50 50 169 42,25 0 [ 50 |

BEE 197 57,25 0 196 49 49

| -14 [PPIS 65 65 225 56,25 0

BR 27 73,25 0 256 64 64 [ 64 |

Figure 1. Sequence Axxxxxx is the row Y[1] of the combined C-Destroyers and C-Submarines
parabolas in PS[x + 1,x,x + 1].

The row Y[1] is the Interleaving of A000290 Square numbers and A002522 (Square plus One)
numbers. The result is the sequence Axxxxxx {..., 257, 256, 226, 225, 197, 196, 170, 169, 145,
144, 122, 121, 101, 100, 82, 81, 65, 64, 50, 49, 37, 36, 26, 25,17, 16, 10,9, 5,4,2,1, 1,0, 2, 1,
5,4,10,9, 17, 16, 26, 25, 37, 36, 50, 49, 65, 64, 82, 81, 101, 100, 122, 121, 145, 144, 170, 169,
197, 196, ...}.
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6 Summary

D-Destroyer
[ VemabcywmeRw®me [ e [ aofo |
2-0dd = 2 mod 4 XA2+x+2 Oblong-2 = A028552 = x(x-3)
hzex
Oblong =A002378 =x0cD) | 0 | 70 | SAzex
[ o Zero o ]
Even = A005843
Oblong = A002378 = x(x-1) Oblong = A002378 = x(x-1)

PS[x+2,x,X]
D-Submarine
Vertical x=-yA2+2fy-fA2 90" f=0

Fbonacdi = AT65900 2 A00886S

2
x
0 [ oz [ o | T | um |

Square = A000290 = x(

Vertical x=-yA2+(2f+1)y-(FA2+f) and x=-yA2+2fy-fA2
[-2,-2,0]1=nA2+n-2=A028552 (xA2+2x-8)/4=0.25xA2+0.5x-2=A028560/4=[-2,-2.25,-2]=(xA2-3A2)/2A2 @f=0
[-1,-1,1]=nA2+n-1=A165900 (xA2+4x-1)/4=0.25xA2+x-0.25=A028875/4=[-1,-1.25,-1]=(xA2-(-/5)A2)/2A2 @f=0
(xA2-2x)/4=0.25xA2-0.5x=A005563/4=[0,-0.25,0]=(xA2-1A2)/2A2 @f=0
=nA2-n: (xA2-1)/4=0.25xA2-0.25=A005563/4=[0,-0.25,0]=(xA2-1A2)/2A2 @f=0
[6,2,0]=nA2-3n+2=A002378 (xA2-6x+8)/4=0.25xA2-1.5x+2=A005563/4=[0,-0.25,0]=(xA2-1A2)/2A2 @f=0
[5,1,-1]1=nA2-3n+1=A165900 (xA2-4x-1)/4=0.25xA2-x-0.25=A028875/4=[-1,-1.25,-1]=(xA2-(\/5)A2)/2A2 @f=0

Figure 1. D-parabolas in PS[x + 2, x, x].

X]=(2xA2+6x-9-(2x+7)(-1)Ax)/8

=(2xA2-2x-1-2x+1)(-1)Ax)/8

ET
Gblong = AD02378 = x6xT) Ghlong = A002378 = x6T)

PS[x+2,X,x]
C-Submarine
Vertical x=yA2-2fy+fA2
PYEETRY
PRV
E

BT 2
[ b [ a1 | odd=nAcosaos | 2
X2 02

C-(Destroyer and Submarine)

Vertical x=-yA2+(2f+1)y-(fA2+f) and x=-yA2+2fy-fA2
[1,1,3]=nA2+n+ (XA2+2x+4)/4=0.25xA2+0.5x+1=A117950/ ,0.75,1]=(xA2+(/3)A2)/2A2 @f=0
[2,2,4]=nA2+n+ (XA2+4x+11)/4=0.25xA2+x+2.752A117619/4=[2,1.75,2]=(xA2+(/7)A2)/2A2 @f=0

(xA2-2x)/4=0.25xA2-0.5x=A005563/4=[0,-0.25,0]=(xA2-1A2)/2A2 @f=0

[2,0,0]=nA2-n=A002378 (xA2-1)/4=0.25xA2-0.252A005563/4=[0,-0.25,0]=(xA2-1A2)/2A2 @f=0
[7,3,1]1=nA2-3n+3=A002061 (xA2-6x+12)/4=0.25xA2-1.5x+3=A117950/4=[1,0.75,1]=(xA2- [(v/3)] A2)/2A2 @f=0
[6,2,0]=nA2-3n+2=A002378 (xA2-4x+3)/4=0.25xA2-x+0.75=A005563/4=[0,-0.25,0]=(xA2-1A2)/2A2 @f=0

Figure 1. C-parabolas in PS[x + 2, x, x].

=(2xA2-2x-1-2x+1)(-1)Ax)/8

[-x]=(2xA2-10%-9-(2x+7)(-1)Ax)/8
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D-Destroyer
[ VemacwmeRwemn [ e ] 50 70
Sz Flbonacc = AT65900
o [ o v [ um |
Odd = A00S408
Square = 4000290 = X0c0)

[ Vemancyeamer [ 9 ]
Square-1 = ADD5563 Zx6c2)

Square =A000200=x0c0) | 0 [ Zen |
o 1 7o |

o [ e | Bensooses | ax | EwnzAoosEas |
Square =A000200= 0| 0 | zeo | Square = 4000230

D-(Destroyer and Submarine)

Vertical x=-yA2+(2f+1)y-(fA2+f) and x=-yA2+2fy-fA2
[-1,0,3]=nA2+2n=A005563  (xA2+4x)/4=0.25xA2+x=A028347/4=[-0.75,-1,-0.75]=(xA2-2A2)/2A2 @f=0
[-2,-1,2]=nA2+2n-1=A008865 (xA2+6Xx+1)/4=0.25xA2+1.5x+0.25=A028884/4=[-1.75,-2,-1.75]=(xA2-(V8)A2)/2 A2 @f=
[1,0,1]=nA2=A000290 XxA2/4=0.25xA2=A000290/4=[0.25,0,0.25]=xA2/2A2 @f=0
[1,0,1]=nA2=A000290 (XA2+2x+1)/4=0.25xA2+0.5%+0.25=A000290/4=[0.25,0,0.25]=xA2/2A2 @f=0
[3,0,-1]1=nA2-2n=A005563 (XA2-4x)/4=0.25xA2-x=A028347/4=[-0.75,-1,-0.75]=(xA2-2A2)/2A2 @f=0 \A] 31805\+A135276 =X_3 XA2-6X+1+(2x-1)
[4,1,0]=nA2-2n+1=A000290 (xA2-2x+1)/4=0.25xA2-0.5x+0.25=A000290/4=[0.25,0,0.25]=xA2/2A2 @f=0 1)/\X)/8

Figure 1. D-parabolas in PS[x + 1,x,x + 1].

T % ] %" 70
Square = AG00790 = XcT)
Square = A000290 = x(x0)
Two 7 wwm [ v um |
& | odasAwosaos | ax | EenzAooses |0 | 7eo |
Ghlong = A002378 = x6T)

50" =0

2xA2+2x+1 2*Oblong+1 = A001844 xA2+1 Square+1 = A002522
Sauare = AD00290 = x( Sauare = AD00290 = x00)
Sauare+1 = AD02522 Sauare+1 = A002522

Even= A005843 Benzaoosess [
Square = A000200=x0c0 | Bz | TsauarezAoorios | ]

PS[x+1,%,x+1]
C-(Destroyer and Submarine)
Vertical x=-yA2+(2f+1)y-(fA2+f) and x=-yA2+2fy-fA2
[1,2,5]=nA2+2n+2=A002522: (xA2+4x+8)/4=0.25xA2+x+2=A087475/4=[1.25,1,1.25]=(xA2+2A2)/2A2 @f=0
[2,3,61=nA2+2n+32A059100 (xA2+6x+17)/4=0.25xA2+1.5x+4.25=A1 89833/42[2.25,2,2.25]=(xA2+(//8)A2)/2A2 A""XXXX MBI AARE OIS
[1,0,11=nA2=A000290 XA2/4=0.25xA2=A000290/4=[0.25,0,0.25]=xA2/2A2 @f=0 [
[1,0,11=nA2-n=A000290  (xA2+2x+1)/4=0.25xA2+0.5x+0.252A000290/4=[0.25,0,0.25]=xA2/2A2 @f=0 \
[5,2,11=nA2-2n+22A002522 (xA2-4x+8)/4=0.25xA2-1x+2=A087475/4=(1.25,1,1.25]1=(xA2+2A2)/2A2 @f=0 [
[4,1,01=nA2-2n+12A000290 (xA2-2x+1)/4=0.25xA2-0.5x+0.25=A000290/4=[0.25,0,0.25]=(xA2+0A2)/2A2 @f=0 |

AO! _2[-X]=(2XxA2+2x+1-(2x+1)(-1)AX)/8

AXXXXXX X_3[-X]=(2XxA2-6x+9-(2x-7)(-1)Ax)/8

Figure 1. C-parabolas in PS[x + 1, x,x + 1].
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7 Conclusions

Parabolas D in paraboctys decreases the coefficient a.

Parabolas C in paraboctys increases the coefficient a.

Verticals and diagonals straight lines in paraboctys keep the same coefficient a of paraboctys.
Horizontal lines in paraboctys are always the Integer numbers line.
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